Lesson 1

=g Reading Comprehension

.\ Reading

Magnetism in Living Things
Some animals are magnetic! The bodies of termites, honey bees, pigeons, whales, dolphins and humans contain
magnetic material. This material seems to give the animals a kind of built-in compass to help them find their way.
A homing pigeon has magnetism inside its head and neck. The magnetism may allow the bird to navigate on cloudy
days when it cannot see the Sun. If a tiny magnet is fixed to a pigeon's back, it cannot find its way. This may be because

the extra magnet stops the pigeon's built-in magnetism from working properly.

H Comprehension Check

1. Only the bodies of ............ contain magnetic material.

1) human beings 2) birds and sea animals

3) some animals and humans 4) mammals and birds
2. The built-in compass inside the bodies of homing pigeons can help them ......... .

1) navigate 2) find the sun 3) protect themselves 4) build their home
3. A homing pigeon has magnetic material inside its ......... .

1) head 2) back 3) head and neck 4) back and neck



The New Bridging the Gap

=il \Vocabulary Test

1. It was dark but we managed to ............... our way through the forest.
1) contain 2) migrate 3) consist 4) navigate
2. This material must be a kind of .............. as it attracts iron objects.
1) metal 2) magnet 3) mirror 4) means
3. Although whales look like fish and live in water, they are actually ................ .
1) mammals 2) objects 3) nutrients 4) materials
4. The .......cc...... behavior for different situations is something we all learn as part of growing up.
1) sudden 2) appropriate 3) constant 4) terrible
5. Many electronic communication devices cannot work properly in .............. fields.
1) magnetic 2) proper 3) regular 4) straight
6. After all those difficulties, he never walked in the mountains again without a map and a ................ .
1) magnet 2) matter 3) content 4) compass
7. One of the fire-fighters got seriously burnt because he'd forgotten to wear ............... clothing.
1) protective 2) harmful 3) magnetic 4) flexible
8. He left there as he thought the amount of money he earned did not ................ with the hard work he had to
do.
1) cost 2) fix 3) match 4) rise
9. A: What is ten pounds ............. to in grams?

B: I think it's about 4500 grams.
1) equivalent 2) available 3) correct 4) proper
10. Many people believe that if the government had taken proper ............ measures, the situation would have
never been so terrible.

1) straight 2) preventive 3) personal 4) separate
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Lesson 2

=g Reading Comprehension

.\ Reading

Magnetism across the Oceans
Some scientists believe that many whales and dolphins have a kind of built-in compass. This may help them to
follow the Earth's magnetic fields when they migrate across the oceans. Whales often get stranded on certain beaches.
This seems to happen where a beach sandbank or island lies across the path that the whales are following. When ocean
currents move through the Earth's magnetic field, they make very small electric currents. Some fish can detect these

electric currents as small as the one from a torch battery.

H Comprehension Check

1. Whales do not get stranded on ............ .

1) beaches 2) sandbanks 3) islands 4) currents
2. The electric currents can be caused by ............... .

1) dolphins 2) beaches 3) whales 4) ocean currents
3. What is the use of the magnetism in the bodies of whales? It helps them ......... .

1) migrate across the ocean 2) get stranded on beaches

3) find magnetism in sea animals 4) produce magnetic fields
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=il Vocabulary Test
1. Swimming in this river can be very dangerous because of its strong ............. .
1) sandbank 2) beach 3) current 4) shark
2. He lost all his money and spent the rest of his life in a small ............... near the town.
1) path 2) cottage 3) aspect 4) case
3. The dentist advised me to use toothpastes containing fluoride, which helps prevent tooth .............. .
1) support 2) organ 3) decay 4) power
4. 1 don’t think your answer to this question is ................. . You seem to have made a mistake somewhere.
1) accurate 2) conscious 3) constant 4) serious
5. Our car ran out of fuel and we got ................ in a forest road at midnight.
1) damaged 2) failed 3) stranded 4) navigated
6. After swimming for two hours, we decided to rest on the ............... and watch the waves.
1) current 2) beach 3) ocean 4) field
7. Because the ................ was separated from the rest of the world for centuries, its animals developed in
different ways.
1) island 2) sandbank 3) freedom 4) ocean
8. From her voice it was easy to .............. that Sue was frightened.
1) create 2) worry 3) compare 4) detect
9. If you keep along this ............ , you'll finally get to their farm.
1) degree 2) idea 3) path 4) action
10. We looked at our compass to make sure that we were heading in the right .............. .
1) direction 2) condition 3) information 4) decision
11. He was so tired after last night's party thathe .............. in bed all morning.

1) lied 2) lay 3) laid 4) lie
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nose? Some scientists have done ...... 2)....... with blind-folded people who are taken many kilometers from their

home. These people can

Part III

Cloze Test

Even humans seem to have a built-in compass. Did you know that you have magnetic ...... @.......

4) eyesight
4) events
4) find

4) accurately

just behind your

than people who can see. The

4) emotion
4) filling
4) task

039> ¢

OPS S5 o028 »
oRx

s )8 (e el 52)
ool

ol ¢ e

Oy S5 &

ool e

oS

03l8l (.S — s JS &
02 b9

o 098 El >

blind-folded people may be using a built-in compass instead of ...... é)....... . If you wear a hat
magnet, it may be that your natural ...... @....... of direction will not work properly.
1. 1) mark 2) material 3) type
2. 1) influences 2) facts 3) experiments
3. 1) point 2) hold 3) watch
4. 1) regularly 2) separately 3) especially
5. 1) mind 2) eyesight 3) thought
6. 1) behaving 2) producing 3) containing
7. 1) sense 2) role 3) skill
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Lesson 3

=g Reading Comprehension

.\ Reading

The Atmosphere
Did you know that we live at the bottom of an ocean of gases? This ocean of gases is called the atmosphere. The
gases in the atmosphere make up the air we breathe. But we can only survive near the surface of the Earth. Here the
atmosphere contains plenty of oxygen — the gas we need to breathe. As you travel farther away from the Earth's surface
the atmosphere changes. The Earth is wrapped in layers or bands of different gases. The layers are the troposphere,

stratosphere and ionosphere.

H Comprehension Check

1. According to this passage, people canlive .........cccceuueene. .

1) in different layers of the atmosphere 2) at the bottom of the oceans

3) only near the surface of the Earth 4) only near where water contains plenty of oxygen
2. As we travel farther away from the Earth's surface, ........c.cccoviiiniinnnnas .

1) we need less oxygen to survive 2) oxygen content of the atmosphere increases

3) it becomes harder for us to breathe 4) we can see different layers of the atmosphere
3. The Verb 'wrap' in line 4 is closest in meaning to .................. .

1) contain 2) make up 3) survive 4) cover
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The New Bridging the Gap
=il \Vocabulary Test
1. The thief tried to leave there immediately but the police ................. his path.
1) disagreed 2) blocked 3) frightened 4) protected
2. As the owner of this company is a woman herself, women ................ sixty percent of workforce here.
1) give up 2) keep on 3) look for 4) make up
3. A way out of the difficulty began to ............. in her mind as she listened to their conversation.
1) form 2) cause 3) seem 4) lie
4. Solar ............... are believed to have a very great effect on radio communications and, perhaps, on the
earth's weather.
1) rays 2) layers 3) paths 4) bands
5. Make sure you ............. the present carefully or it may get damaged in the post.
1) match 2) operate 3) wrap 4) invent
6. This book is especially suitable for young people in the 15-20 age .............. .
1) layer 2) volume 3) band 4) shape
7. Luckily the little girl was wearing several ............... of warm clothing when she was left outside in freezing
air.
1) forms 2) layers 3) sheets 4) shapes
8. In most cancers there's a high chance of ................. if they are detected and cured early.
1) prevention 2) survival 3) observation 4) struggle
9. With the memory of what had happened to her ................ in her mind , Tina became increasingly nervous.
1) fresh 2) certain 3) free 4) usual
10. His c.covvnenennnnns continued to rise and his condition became worse until they finally decided to call out the
doctor .

1) situation 2) measure 3) expression 4) temperature
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Cloze Test

Part III

The atmosphere becomes thiner as its height above the earth ...... @....... . In the lowest band, the troposphere, are
all the gases needed by living ...... 2)....... on Earth. In the next ...... 3)....... , the stratosphere, you would find the
ozone layer.

Ozone is a gas ...... @....... when ultraviolet rays from the sun change some of the oxygen in the atmosphere to
ozone. The ozone makes a thick layer round the Earth and ...... S)....... some of the sun's harmful ultraviolet rays and
...... (6)....... them from reaching the Earth. Some people think ozone smells like garlic. Other say it smells like
seaweed. Oxygen has no smell at all. You would be cold there. The ...... @....... in the lower stratosphere is about

minus 55 degrees Celcius.

1. 1) stretches 2) improves 3) contains 4) increases

2. 1) creatures 2) aspects 3) measures 4) effects
3. 1ray 2) layer 3) degree 4) form

4. 1) formed 2) involved 3) blocked 4) wrapped
5. 1) disagrees 2) protects 3) carries 4) blocks
6. 1) prevents 2) releases 3) includes 4) accepts
7. 1) condition 2) temperature 3) formation 4) activity

word study
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Lesson 4

=g Reading Comprehension

.\ Reading

Sleeping During the Cold Season
In those parts of the world where some months of the year are very cold, mice and other small mammals hibernate.
This means that they go into a very deep sleep for the cold period and only fully wake up when the weather turns warm
again. Hibernating animals breathe much more slowly and their body temperature falls. They also need much less food.

They build up a thick layer of fat during hibernation.

H Comprehension Check

1. We understand from the passage that hibernation is a state like .................... .
1) sleep 2) cold season 3) temperature 4) deep breath

2. Which sentence is not true?

1) Only small mice hibernate in cold seasons. 2) Hibernation occurs only during cold temperature.
3) Body temperature decreases during hibernation. 4) Animales are relatively inactive during hibernation.
3. Hibernation is a useful way for small mammals to ................... cold winters.

1) build up 2) survive 3) use up 4) locate
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=laail  Vocabulary Test
1. There was a dark, oily .............. in the river coming from that factory.
1) decay 2) function 3) position 4) substance
2. They ...ccevveneenee their saving accounts so that they finally could buy a new house.
1) built up 2) grew up 3) looked up 4) gave up
3. When we went to Spain for the first time, we knew nothing of Spanish people. But ............... we got familiar
with their culture.
1) basically 2) gradually 3) regularly 4) probably
4. They seemed to be good partners, although they had few interests in ............ .
1) public 2) addition 3) average 4) common
5. When the snow begins to melt and it turns warm, all the .................. creatures become active again.
1) hibernating 2) biological 3) stranded 4) regular
6. I believe if John had been ............... aware of the possible dangers of the job, he'd never have accepted it.
1) fully 2) gradually 3) surely 4) recently
7. Having carefully listened to her description, I could get a ............... idea of what his brother looked like.
1) familiar 2) rough 3) personal 4) firm

8. Unfortunately the public transport system in most of our big cities, especially in the capital, is in a sorry

1) state 2) organ 3) mood 4) course

H word study
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Lesson 5

=g Reading Comprehension

Nl Reading

Coping Strategies
Increase your resistance to allergies through a balanced diet and a programs of exercise and rest.
Limit early-morning outdoor activities — plants produce the greatest amount of pollen from 5-10 a.m.
Avoid irritants that make breathing difficult — smoke, dust, smog, fumes, aerosol sprays, cold air and excessive
humidity.
Shower or bathe before bed-time to wash off any allergens in your hair and on your skin.

Keep your bedroom clean — the average person spends at least 1/3 of the day there.

I Comprehension Check

1. Which of these recommendations has not been mentioned in the passage?

1) having a halanced diet 2) avoiding excessive humidity
3) taking a shower early in the morning 4) keeping your bedroom clean

2. Early out-door activities are not suitable for allergic people as there is too much ................ in the air.
1) smog 2) dust 3) pollen 4) humidity

3. Which sentence is not true?
1) People suffering from allergies can increase resistance to them.
2) Excessive humigity can make breathing difficult.
3. A sufferer car remove allergens by taking a shower.

4. Allergic people are forbidden to do any kind of physical activites.
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.Vl Reading

There are just as many things that cause allergies inside the home as are outside. That's why there's Banadryl. It is
the allergy medicine pediatricians recommend most to relieve the allergy symptoms that come from both inside and

outside the home.

iy Comprehension Check

1. Which of the followings can be the most appropriate title for the above passage?

1) allergies and a special medication 2) removal of allergens inside and out
3) treatments for kids 4) allergies' symptoms
2. Benadryl is most probably a ............... .
1) medical magazine 2) pediatrician
3) kind of allergy 4) kind of medicine

=il \Vocabulary Test

1. Doctors ............... that this condition should be treated only with sufficient bed-rest.
1) recommend 2) affect 3) limit 4) concentrate
2. Disabled people sometimes find it difficult to ............... public transport.
1) fill in 2) build up 3) take apart 4) cope with
3. I'm afraid I don't know the meaning of this word. My knowledge of English is rather ............... .
1) limited 2) excessive 3) gradual 4) current
4. Put your thumb in cold water. That will help to ............... the pain of the burn.
1) decay 2) refuse 3) detect 4) relieve
5. The doctor reminded Martha once again that her weight was ............... and thus dangerous to her health.
1) regular 2) medical 3) excessive 4) anxious
6. Summer is more humid than winter because warm air can carry more ............... than cold air.
1) moisture 2) atmosphere 3) irritants 4) activities
7. Now that I've discovered that I'm ............... to strawberries, I make sure I never eat them.
1) allergic 2) unable 3) affected 4) medical
8. A(M) cevvvniiniinnnnnns diet containing lots of fruits and green vegetables is necessary for all growing kids.

1) balanced 2) repetitive 3) serious 4) actual
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9. It was obvious that she hadn't cleaned her room for several weeks because a thick layer of .................. was
all over everything.
1) dust 2) smog 3) vapor 4) steam
10. All his friends reacted to the news of his great success with a .................. of surprise and admiration.
1) purpose 2) mixture 3) course 4) symptom
11. Dr Harris asked me to describe my ............... so as to find out what the cause of my illness was.
1) symptoms 2) reasons 3) interests 4) organs
12. With all the car exhaust ............... , the problem of air pollution is getting more worrying day by day.
1) vapor 2) fog 3) fumes 4) pollen
13. His family preferred to ............... at home while he looked for employment in another state.
1) remove 2) relieve 3) react 4) remain
14. Having carefully examined the decay on my wisdom tooth, my dentist suggested the .................. of it.
1) state 2) action 3) harm 4) removal
15. This disease is surprisingly difficult to catch as most people have a natural .................. to it.
1) mixture 2) resistance 3) humidity 4) irritant
16. More than half of the ............... deaths in our country is caused by car accidents.
1) avoidable 2) preventive 3) reasonable 4) protective
17. The airport officials decided to cancel all the flights because of a dense ............... .
1) vapor 2) fog 3) wind 4) pollen
18. He was permitted not to take heavy exercises as he was on .................. for his lung disease.

1) medication 2) function 3) condition 4) attraction
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EVEVAESE  Lessons 1 -5

1. Actually, it was very hard to see what was going on with the wind blowing .................. into our faces.
1) dust 2) moisture 3) ray 4) steam

2. You must use a piece of cloth in order to ............... the hole in that wall.
1) wrap 2) relieve 3) protect 4) block

3. Having so little money to spend on a new apartment does .................. you in your choice.
1) strand 2) limit 3) match 4) create

4. The doctor has put me on a low-salt ............... to reduce my blood pressure.
1) vessel 2) support 3) organ 4) diet

5. As we drove further north, we could notice a(n) .................. change in climate.
1) surrounding 2) gradual 3) equivalent 4) flexible

6. When she entered the kitchen, she noticed the unpleasant smell of .................. meat.
1) storing 2) warning 3) containing 4) decaying

7. During the recent rainstorms, all of the southern parts of our country have been ..................... by terrible
floods.
1) removed 2) distracted 3) limited 4) affected

8. In general, as the distance from the sun increases, the planet .................. are more widely separated.
1) layers 2) surfaces 3) columns 4) paths

9. On a good night, the .................. is soon so crowded with fish that it turns silver.
1) cottage 2) smog 3) beach 4) humidity

10. At first his classmates paid no attention to him but soon his personal .................. made everyone like him.
1) magnetism 2) navigation 3) agreement 4) direction

11. That's only a(n) ...cceevvevenrennnnn. estimate of the likely cost, but it will help us to manage our money.
1) limited 2) active 3) balanced 4) rough

12. I know she's very inexperienced, but I'm sure she can .................. very well with her new position.
1) rely 2) cope 3) carry 4) limit

13. I was very worried about the examination and it was a great .................. to hear that I had passed.
1) mood 2) pressure 3) fact 4) relief

14. I suggest you try some relaxation methods; sleep drugs are not ................... in this case.

1) forbidden 2) stranded 3) recommended 4) affected
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15. Doctors have developed a device which can ................... who is at more risk from sudden death following a

mild heart attack.

1) recommend 2) prepare 3) remain 4) detect
16. A(M) evveniininnnnnnns description of what you're searching for will help us to find it more easily and quickly.
1) gradual 2) accurate 3) familiar 4) conscious
17. As a professional athlete, she must exercise regularly to ................. her physical strength.
1) build up 2) give out 3) grow up 4) get away
18. He's been HIV positive for six years, but just recently he's started to develop the .............. of AIDS.
1) researches 2) occasions 3) symptoms 4) medicines
19. Any decision which increases unemployment is much likely to meet with strong ............... .
1) observation 2) appointment 3) discussion 4) resistance
20. Because of the improvements in international media and the Internet, .................. news is available almost
everywhere.
1) gradual 2) current 3) separate 4) reasonable
635 aslidmly
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Lesson 6

=g Reading Comprehension

Reading

About 10,000 years ago, the first farmers grew wheat, which they bundled into sheaves. Sheaves could be counted

Counting Wheat

by tallying. The farmer might meet a herdsman who would exchange a goat for some wheat. How many sheaves of
wheat would be exchanged for an animal? Perhaps the herdsman would hold up five fingers ... five sheaves for a goat.
Fingers provided a useful way of showing small numbers. But there was no way of writing numbers down or adding

them together.

H Comprehension Check

1. It can be understood from the passage that tallying was a wayof ........... numbhers or items.
1) growing 2) counting 3) exchanging 4) farming
2. Which ten sentence is not true?
1) The first farmers grew barley 10000 years ago.
2) Fingers were used to show small numbers.
3) The first people did not know how to write numbers down.
4) Adding numbers was a problem for ancient people.
3. The word 'exchange' in line 2 means:
1) find the total number of 2) raise animals such as goat

3) give sth and get sth else in return 4) count numbers with fingers
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=@l Vocabulary Test

1. This part is safe and shallow. How about swimming from our boat to the ............... ?
1) current 2) path 3) shore 4) cottage
2. They ...cccccuueee. the boy's hands to a tree with a piece of rope and ran away.
1) bundled 2) exchanged 3) raised 4) tied
3. Nowadays many farmers are using scientific methods to grow more ............... .
1) wheat 2) marks 3) dust 4) shelves
4. She gave a ............... of old clothes to a charity organization for homeless people.
1) sheaf 2) herd 3) bundle 4) band
5. When you are ............... , it's often hard to resist staying in bed all morning.
1) frightened 2) exhausted 3) involved 4) balanced
6. After the party we ............... telephone numbers and promised not to lose contact with each other.
1) provided 2) counted 3) recommended 4) exchanged
7.He ..cccuuennnnnn. the money and surprisingly found that its amount was much more than he'd been promised.
1) held 2) counted 3) cost 4) coped
8. When the thief .................. his hands, the police discovered that he was carrying a gun.
1) got off 2) gave up 3) went on 4) held up
9. All they had grown was totally destroyed when a. ............... of elephants passed their farm.
1) shelf 2) tie 3) sheaf 4) herd
10. It's strongly recommended that young babies' diet should contain no ............... salt or sugar.

1) useful 2) active 3) harmless 4) added
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Lesson /

=g Reading Comprehension

Reading

Did you know that you could live without water for only about a week? You probably think your body feels firm

Watery You

and solid because it is full of strong bones and muscles. But in fact 65 percent of your body is made up of water.
Because we lose water, we need to keep topping up the amount of water in our bodies. We need between two and three

liters of water each day.

H Comprehension Check

1. Which sentence is not true?

1) Our bodies feels strong because of strong muscles.  2) Since we lose water we must drink more water.

3) We could live without water only for a short time.  4) 35 percent of the human body is not made up of water.
2. The word 'it' in line 2 refers to ............. .

1) water 2) body 3) bone 4) solid
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=@l Vocabulary Test
1. Although a lot has been done for it recently, unemployment is likely to ............... rising this year.
1) goon 2) look up 3) get off 4) find out
2. This large model is for home-use only, but there's a(n) ............... design which is highly suitable for travel.
1) accurate 2) rough 3) compact 4) firm
3. The government is expected to take ............... action to reduce air pollution in big cities.
1) firm 2) concerned 3) smooth 4) safe
4. They lost another match today and this killed any ............... hopes of their reaching the final.
1) gradual 2) compact 3) excessive 4) remaining
5. After his stomach operation, the old man was unable to eat ............... food for several weeks.
1) smooth 2) fresh 3) active 4) solid
6. All the children had been ............... by their father into helping their mother with housework.
1) limited 2) pressed 3) yielded 4) exchanged
7. The fat boy jumped into the swimming pool with a great ............... .
1) splash 2) case 3) shore 4) pressure
8. As water vapor rises it becomes colder and finally it ............... to form clouds.
1) wraps 2) resists 3) condenses 4) yields
9. In the end he ............... to the pressure and accepted the new plan.
1) refused 2) remained 3) exchanged 4) yielded
10. He had to do extra jobs at weekends in order to ............... his earnings.

1) give up 2) top up 3) look up 4) wake up
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.\ Reading

The Ozone Layer

Around 1970 scientists began to notice something strange happening in the earth's atmosphere. They were surprised
to see a hole appearing each spring in a layer of gas that surrounds the earth. This layer of gas is called the ozone layer.

The scientists noticed that the ozone layer appeared to be getting thinner and thinner. The problem was most serious
over Antarctica. Here they found the ozone layer was thinner each spring. Now the ozone layer is beginning to get
thinner over Europe, Asia and North America. Though these holes are smaller, it is enough to worry the scientists.

The ozone layer lies in the stratosphere between 16 and 50 kilometers above the Earth's surface. This layer shields
us from some of the ultraviolet rays from the sun. These are the rays which make pale human skins become darker in

sunlight. But too many ultraviolet rays can be bad for us.

ﬂ Comprehension Check

1. The ozone layer protects us by ............... .

1) blocking some of the sun's heat 2) making our skins pale

3) stopping some of ultraviolet rays 4) preventing the atmosphere from getting thin
2. The largest hole in the ozone layer is over the ............... .

1) stratosphere 2) south pole 3) Asia 4) North America
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3. Which sentence is false according to the passage?
1) The hole in the ozone layer was discovered in 2oth century.
2) The ozone layer is thinnest in the spring.
3) Small holes in ozone layer are not important to pay attention to.

4) Nowhere on Earth is free from the problem of ozone layer.

=@l Vocabulary Test

1. At most public ............... , people have to take a shower before they enter them.
1) beaches 2) pools 3) paths 4) islands
2. These plants must be ............... from direct sunlight or they'll die soon.
1) relieved 2) detected 3) disturbed 4) shielded
3. He emphasized that people should immediately contact the police if they've ............... any strangers in the
area recently.
1) noticed 2) resisted 3) yielded 4) mentioned
4. He'd lost a lot of blood and that made him look ............... .
1) pale 2) facial 3) light 4) firm
5. After their wonderful performance, they found themselves .................. by an admiring crowd.
1) limited 2) wrapped 3) surrounded 4) exhansted
6. You'd better change the place of your computer because while here, the ............... causes a hurting
reflection on its screen.
1) result 2) hole 3) path 4) light
7. It is estimated that Iran's population will probably reach 80 million by the turn of the ............... .
1) nation 2) century 3) period 4) future
8. The doctor was helpful, and offered constructive ............... as to how I could improve my diet.

1) situations 2) protection 3) suggestions 4) recognition
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.\ Reading

Why Do We Count?

Can you imagine a time when people did not use numbers? The first people on earth lived by hunting wild animals
and collecting fruit and nuts. They had no need to count. Numbers did not matter to them.

Then about 11000 years ago herdsmen began to keep flocks of sheep and goats. They had to be able to count so that
they would know if any of their animals were missing. The first calculations were made by counting in ones — 'l and 1
and 1" and so on.

This method of counting is called tallying. One way herdsmen used to tally was to put a stone on a pile for each
animal. Other ways were to tie knots in a length of rope or scratch on a piece of wood. Each knot or scratch represented

one sheep or goat.

H Comprehension Check

1. Why did early man need to be able to count?

1) to hunt wild animals 2) to collect wild fruits and nuts

3) to know if his animals were missing 4) to tie knots in a length of rope
2. Numbers did not matter to ............... .

1) people living 11000 years ago 2) people who kept sheep and goats

3) the first people on the earth 4) any of our ancestors
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3. The first people on the earth lived by ............... .
1) counting numbers 2) keeping sheep and goats
3) hunting wild animals 4) tallying stones with animals
=@l Vocabulary Test
1. The workers agreed to choose him to ............... them in the next meeting.
1) represent 2) mention 3) collect 4) recommend
2. In spring, ............... of birds arrive back in Europe after spending the winter in Africa.
1) mammals 2) currents 3) knots 4) flocks
3. If you want to go shopping by car, would you please ............... the children from school, too?
1) collect 2) release 3) prepare 4) inform
4. In many parts of Asia, tigers are still ................ for their beautiful skin.
1) affected 2) warned 3) hunted 4) frightened
5. Suddenly, a ............... of rocks blocked our only path to freedom.
1) pile 2) flock 3) core 4) level
6. After searching for three days the rich man was found dead with a .................. tied round his neck.
1) rope 2) sense 3) ray 4) line
7. He became very angry when he saw his new car was ............... . Another car must have run along the side
of it.
1) scratched 2) failed 3) distracted 4) refused
8. Actually it doesn't .................. how you look at it, the problem remains the same.
1) imagine 2) matter 3) prepare 4) accept
9. I can only give you a rough estimate of how much money you should pay because the exact ............... of the
cost is impossible.
1) calculation 2) production 3) function 4) formation
10. A girl who went ............... during a family outing to Mount Snowdown has been found dead on the

mountainside.

1) damaging 2) worrying 3) shocking 4) missing
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=g Reading Comprehension

.\ Reading

Why We Need Computers

Every day of your life, you use a kind of computer — your brain. Your brain tells you when you are hungry. It helps
you to move to work and to remember things.

Our brains can also solve complicated mathematical problems or calculations. But sometimes we need to calculate
far more quickly than our brains can manage and be sure that the answer is correct. This is when we need computers
which can solve problems and carry out the most difficult calculations with amazing speed and accuracy.

Computers are specially useful for storing a lot of information. They can keep words, pictures and sounds in their
memory and give you the information you need within seconds.

Even the most advanced computers are often easy to use. They communicate with you by flashing messages or

pictures into a screen or sometimes they talk to you. You can play games with them too.

H Comprehension Check

1. Something that helps you to work, to move and to remember is your ...............

1) computer 2) body 3) brain 4) memory
2. Computers can ............... .

1) work without the help of human 2) store a lot of information

3) be used easily only if they are advanced 4) tell you when you are hungry
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3. Which one is false according to the passage?
1) Brain is a kind of computer.
2) Computers can talk to people.
3) People can play games with computers.

4) Computers cannot give people the information they need.

=@l Vocabulary Test

1. Many ............... have been made in the field of communication through the use of fiber optics.
1) observations 2) experiences 3) capacities 4) advances

2. It's easy to write down a plan for losing weight, but much harder to ............... .
1) top it up 2) carry it out 3) give it up 4) give it back

3. Bya(n) .cceeuvnrnnnnns stroke of luck, all the people of the village survived that terrible earthquake.
1) worring 2) amazing 3) frightening 4) amusing

4. If you've finished yours, could you please help me to fill in this really .................. form?
1) complicated 2) limited 3) exhausted 4) calculated

5. We couldn't make a correct decision in that unexpected situation because all the things happened in a

................

1) point 2) sense 3) flash 4) limit
6. The plan is highly recommended since it's been drawn with a surprising degree of ............... .
1) accuracy 2) resistance 3) capacity 4) support
7. Studies suggest that regular intake of vitamins can considerably enhance our brain .................. .
1) experience 2) decision 3) transfer 4) function
8. In this course you will be taught some basic relaxation techniques for .................. stress.
1) detecting 2) affecting 3) advancing 4) managing
9. Being an excellent teacher, John is able to successfully .................. his knowledge to his students.

1) concentrate 2) encourage 3) communicate 4) realize
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EVETAESS Lessons 6 - 10

1. The cook had to ............... the number of diners to see whether he could decrease his order for meat.
1) calculate 2) compare 3) recommend 4) represent
2. After his death, all his clothes and belongings were wrapped inaa. ............... and were given to his parents.
1) bundle 2) flock 3) herd 4) partner
3. It's such a relief to hear that there has been a ............... improvement in her health.
1) collective 2) reasonable 3) preventive 4) noticeable
4. The police were ..........c.cu.u.. at the survival of the five children after a night out in freezing temperatures.
1) advanced 2) amazed 3) frightened 4) related
5. A: Can you see the .................. from the ship?
B: Yes. There's a crowd of tourists on the beach.
1) shore 2) knot 3) rope 4) path
6. This system has been designed to provide a .................. against probable enemy attack.
1) shield 2) ray 3) band 4) magnet
7. My uncle bought me this shirt as a present but I don't like the color, so is it possible to ............... it for a

different one?

1) match 2) exchange 3) yield 4) handle
8. The hospital is ............... blood tests to find out what's wrong with my father.
1) taking away 2) building up 3) carrying out 4) getting back
9. His clothes were old and dirty but his behavior was .................. of a highly educated person.
1) suggestive 2) preventive 3) collective 4) effective
10. In the end they chose to buy a(n) ............... radar warning system to detect enemy planes.
1) advanced 2) sudden 3) previous 4) useless
11. I strongly recommend you to buy a(n) ............... car mainly because it's more economical as it uses less
fuel.
1) fashionable 2) compact 3) available 4) complicated
12. Taking a length of .................. , the robbers tied the clerks' hands and feet and then ran away.
1) aid 2) rope 3) metal 4) layer
13. By the time they reached their destination, they were too ............... , but they were also relieved to be there.
1) disabled 2) advanced 3) involved 4) exhausted
14. She turned on the hot water and put another .................. of dirty dishes into the sink.

1) pile 2) task 3) meal 4) site
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15. We missed our flight because the directions to the airport were too

1) efficient

16. Some people in the audience tried to distract him, but he just ignored them and

presentation.

1) gave up

17. Doctors recommend that people who have

2) pale

1) mild

18. After a while it was impossible to see myself in the bathroom mirror as steam from the shower had

2) complicated

2) turned on

............... on its cold surface.

1) contained

19. My letter took a month to get to its destination. It must have been

1) relied on

20. This report ......cccceueuen.

1) supposes
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.\ Reading

Two More Things to Know

Regulate your body heat. Even small ups and downs in body temperature play a large role in your biological
rhythms. Sleep generally follows the cooling phase of your body's temperature cycle. Normally peaks and troughs in
temperature parallel exposure to light and darkness, but if your inner thermostat is following its own independent
schedule, your sleep may be disrupted. One way to control body temperature is with exercise. You might also try a hot
bath well before bedtime since it can influence body temperature.

Screen out nocturnal noises. While you may get used to soft rhythmic sounds, louder sporadic noises from traffic or
aircraft can destroy sleep more than you expect. If you cannot eliminate the noises try muffling its sound. Carpeting and

draperies help.

ﬂ Comprehension Check

1. This passage mainly talks about ways to ................ .
1) sleep better 2) screen out noises 3) control temperature 4) reduce body heat

2. Which sentence in not true?
1) We sleep before the cooling phase of body temperature cycle.

2) Exercise helps us control our body temperature.
3) Our inner thermostat responses to light.

4) In order to have a good sleep we need to regulate our body heat.
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3. According to the passage draperies can help us ............... .
1) have less exposure to light 2) eliminate soft sounds
3) regulate inner thermostat 4) muffle annoying noises
=aid  Vocabulary Test
1. Students are not normally allowed to take dictionaries to exams, but in this .................. they were asked to
do so.
1) interval 2) field 3) instance 4) object
2. The play was so boring that nearly half of the audience left during the .................. .
1) operation 2) reaction 3) experience 4) interval
3. The speaker's main topic was how to ..........ccceueueens hunger in this world.
1) eliminate 2) proceed 3) regulate 4) provide
4. He can work in any part of the departments, and it doesn't matter to him if he works .................. or as a
part of a team.
1) sporadically 2) regularly 3) independently 4) generally
5. Two of the actors were late and the show had to .................. without them.
1) parallel 2) disrupt 3) proceed 4) represent
6. We can't ask for help because the storm has .................. all the telephone lines throughout the area.
1) disrupted 2) exhausted 3) scratched 4) regulated
7. Soldiers who are fighting in an open field are in .................. to the enemy's gunfire.
1) instance 2) exposure 3) resistance 4) posture
8. Please consider changing your class .................. so you can work on your project in the afternoon.
1) schedule 2) valve 3) trough 4) cycle
9. This drug should not be taken if your heart rate becomes less than sixty .................. a minute.
1) troughs 2) beats 3) cycles 4) phases
10. It was three hours before the traffic began to .................. normally after the accident.
1) flow 2) contain 3) manage 4) muffle
11. As we become older, the mechanisms which .................. our body temperature tend to be less efficient.
1) eliminate 2) regulate 3) navigate 4) hibernate
12. These masks are designed to .................. harmful fumes in polluted urban areas.
1) screen out 2) fill in 3) carry out 4) build up
13. The doctor's worries increased when he found that the child's .................. was too weak.
1) trough 2) peak 3) rhythm 4) pulse

14. He showed no response to treatment and his condition got worse so his doctor was asked for a(n)

1) amazing 2) gradual 3) worrying 4) noctural
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15. He was taken to hospital suffering from sudden ............... heartbeats.

1) irregular 2) parallel 3) general 4) amazed
16. I've taken a number of medications for my constant headache, but none of them have helped me
.................. it.

1) get used to 2) get into 3) get rid of 4) get to
17. In addition to reducing the exhaust gases from vehicles, trees are useful for .................. the sound of
traffic.

1) beating 2) muffling 3) proceeding 4) flowing
18. During ............... periods, especially in the summer, reservations are difficult to make at most of the hotels
in this area.

1) basic 2) regular 3) fresh 4) peak
19. According to this study, the change in smoking is ............... by a change in the number of cases affected by
lung cancer.

1) exposed 2) treated 3) paralleled 4) calculated
20. Upsetting the normal ............... of sleep is one of the unwanted side effects of this drug.

1) beats 2) rhythms 3) pulses 4) valves
21. Fortunately, our bank's shares have risen by twenty percent since their ............... last October.

1) resistance 2) limit 3) accuracy 4) trough
22. After one week of continuous fighting, last night was in total silence except for ............... gun fires.

1) dependent 2) sporadic 3) excessive 4) missing
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=g Reading Comprehension

.\ Reading

Space Sickness
Up in orbit, it is fun floating about and performing somersaults and other gymnastics. But your body isn't used to it
and you will probably feel sick. At least, half of all astronauts suffer from space sickness. But after two or three days
your body gets used to the strange state and the sickness stops.
On a long trip in space, weightlessness causes more serious problems. When there is no gravity to battle against,
your muscles become weak and start to waste away. To prevent this, you must take regular exercise. On the battle, you

can use a treadmill for exercise. On Russian Space Stations, the cosmonauts exercise on bikes that are fixed to the floor.

ﬂ Comprehension Check

1. The second paragraph of this passage is mainly about ................. .

1) how to perform somersaults in space
2) what's going on in Russian space stations
3) complications of weightlessness and how to prevent them

4) having fun and entertainment in space

2. Weakness of our muscles in space is due to lack of ................. .
1) enough food 2) weightlessness 3) air 4) gravity
3. The word ''battle'" in line 4 is closest in meaning to ............... .

1) exercise 2) fight 3) prevent 4) waste
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=il Vocabulary Test
1. This .cccovvvuennens mostly affects children and its first symptom is a sudden stomachache.
1) treatment 2) disease 3) reality 4) medication
2. No agreement was reached and both sides prepared to go on their .................. for control of the market.
1) shield 2) exposure 3) battle 4) power
3. You can easily ............... in this sea even if you're a beginner because it's too salty.
1) float 2) raise 3) flow 4) remain
4. Actually a great deal of energy is needed to launch a spacecraft against the force of .................. .
1) universe 2) density 3) pole 4) gravity
5. All the astronauts seemed to enjoy beingin a ............... enviroment and floating around.
1) balanced 2) weightless 3) surrounding 4) physical
6. Even famous doctors were not certain at first what disease it was which was .................. her strength.
1) taking apart 2) wasting away 3) carrying out 4) screening out
7. Having measured the new bed, we realized that there wasn't enough .................. space to fit it in our room.
1) floor 2) load 3) support 4) effect
8. The new space station is designed to remain in ..................... much longer than the old ones.
1) satellite 2) planet 3) gravity 4) orbit
9. The complex engine had many different parts, each ............... a different function.

1) affecting 2) creating 3) performing 4) exchanging
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Lessonq 3

=g Reading Comprehension

.\ Reading

The Force of the Wind

One of the problems that engineers face when designing a skyscraper is the strength of the wind. A skyscraper may
sway in a strong wind, so it must be held in place by a strong frame and deep foundations.

Steel and concrete are the two most important materials used in building skyscrapers. Neither material is strong
enough on its own to support the building, but steel is strong under tension and concrete is strong under compression.
Inside the steel framework is the core. This is a hollow, reinforced concrete rectangle. The core is the building's
backbone or spine. It is very strong. Many of the services in the building, such as the lift or the water supply may be

built into the core.

H Comprehension Check

1. Inside the steel framework is ............... .
1) the building's spine 2) the concrete 3) the foundation 4) water supply

2. Both steel and concrete are necessary in a building because ............... .
1) together they support the building 2) they are both strong under tension and compression
3) neither material can support the building 4) they support the core of the building

3. Many of the services in a building are builtin ...............

1) a concrete rectangle 2) a deep foundation 3) a hollow place 4) the core of the building
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=@l Vocabulary Test
1. As the ............... was out of order, we had to walk all the stairs to the top floor.

1) frame 2) lift 3) steel 4) force
2. Even the most developed countries in the world are ............... economic problems these days.

1) causing 2) facing 3) adding 4) lifting
3. Some scientists are studying ways of bringing the oceans' huge ............... of water to the dry deserts of the
world.

1) frame 2) vapor 3) floor 4) supply
4. Some restaurants allow diners to smoke only in certain ............... .

1) meals 2) reasons 3) flats 4) sections
5. The dog found a .................. at the base of a tree to hide in from the wind.

1) hollow 2) frame 3) spine 4) path
6. We are going to paint our table to match the window .................. in the bedroom.

1) view 2) bundle 3) knot 4) frame
7. The latest observations ............... the view that the economic growth in this country is slowing.

1) reinforce 2) compare 3) suppose 4) handle
8. We're looking for someone who has the inner .................. to take on such a difficult job.

1) pressure 2) strength 3) instance 4) effect
9. The construction workers have just started to lay the .................. of the new school.

1) foundation 2) limitation 3) compression 4) calculation
10. No formal agreement was reached on ways of reducing the ..................... between the neighboring
countries.

1) compression 2) protection 3) decision 4) tension
11. The plan may be changed, but it will provide a .................. on which we can build.

1) concrete 2) framework 3) rectangle 4) research
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=g Reading Comprehension

.\ Reading

News from the World of Medicine

According to a recent study, critically ill premature babies can be rescued from almost certain death by filling their
underdeveloped lungs with an oxygen-rich liquid called "perflubron”.

In infant respiratory distress syndrome, the lungs lack enough of a chemical that keeps the air sacs open so oxygen
and carbon dioxide can be exchanged.

Doctors trickle the liquid down the baby's breathing tube until it partly fills the lungs. The perflubron gently opens
and stabilizes the collapsed air sacs. A respirator then refills the oxygen in the liquid as the oxygen moves through the
air sacs into the bloodstream. The liquid then carries the carbon dioxide away.

The same technique is being tested on older children and adults with a variety of other life-threatening lung illnesses

and injuries, including infections, near-drowning and smoke inhalation.

H Comprehension Check

1. In infant respiratory distress syndrome ............... .

1) oxygen and carbon dioxide cannot be dissolved 2) the lungs suffer from the lack of carbon dioxide
3) oxygen and carbon dioxide can be easily exchanged 4) the lungs lack enough of a chemical

2. A respirator can provide the .................. in the process of saving the babies who suffer from lung illnesses.
1) carbon dioxide 2) oxygen 3) perflubron 4) fresh liquid

3. Which of the following can be a suitable title for the passage rather than the one which exists?
1) Infant Respiratory Distress Syndrome 2) Babies’ Illnesses

3) Saving Premature Babies 4) Air Sacs of the Lung
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=@l Vocabulary Test
1. It's not reasonable to jump into the water to .................. somebody when you don't know how to swim
yourself.
1) float 2) rescue 3) carry 4) supply
2. Traveling is very comfortable now, but our ancestors could hardly move out of their houses for ..................
of adequate means of transportation.
1) path 2) lack 3) pile 4) tool
3. This powder should be .................. in half a glass of water and taken at least twice a day.
1) dissolved 2) leaned 3) treated 4) exposed
4. The existence of large armies and terrible weapons .................. the world peace.
1) reinforces 2) drowns 3) hunts 4) threatens
5. Three cars fell into the river when the old bridge suddenly .................. .
1) collapsed 2) followed 3) disrupted 4) spoiled
6. Our teacher got .................. by the poor performance of our class on the final examination.
1) stranded 2) threatened 3) developed 4) distressed
7. The brave man put his lift in danger by trying to save the boy from .................. .
1) scratching 2) drowning 3) affecting 4) ignoring
8. In this department, students have a wide choice and will be offered a great ............... of courses.
1) equivalent 2) limit 3) frame 4) variety
9. First I need to talk to my wife about selling this house because it is .................. owned by her.
1) gently 2) closely 3) partly 4) likely
10. I don't feel our son is old enough to make such a(n) ............... important decision by himself.
1) accurately 2) critically 3) gradually 4) efficiently
11. It's not good for you to ............... your food so quickly. Eat slowly so you can digest it well.
1) take in 2) top up 3) carry away 4) build up
12. Car accidents are still the number-one cause of disability and .................. deaths for Americans.
1) smooth 2) probable 3) medical 4) premature
13. Some vitamins are assumed to reduce the risk of ............... caused by bacteria or viruses.
1) treatments 2) infections 3) medications 4) observations
14. Although her illness is quite serious, her condition is beginning to ............... .
1) collapse 2) threaten 3) stabilize 4) exhaust
15. Two small .................. join together at the bottom of the village, forming a big river.
1) beaches 2) pools 3) fields 4) streams
16. Having seen my assignments, the teacher smiled at me and .................. asked me to do it over.
1) actively 2) gently 3) mainly 4) partly
17. In their first few weeks, ............... are not able to see properly the objects surrounding them.

1) infants 2) syndromes 3) senses 4) reactions
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18. A mask provides a simple, useful protection against
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heart disease, and lessen the risk of heart surgery. PRAVACHOL is a prescription drug, so you should ask your doctor
if PRAVACHOL is right for you. Some side effects, such as slight rash or mild stomach upset, occur in about 2-4% of
patients. PRAVACHOL should not be taken by women who are pregnant or nursing, people who are allergic to any of

its ingredients or by anyone with liver disease. Be sure to mention any medications you are taking so any possible

serious drug interactions can be avoided.

H Comprehension Check

1. PRAVACHOL is a drug for ............... .

1) a pregnant woman

3) men with mild stomach upset

2. PRAVACHOL can be bought in ............... .

1) all drugstores
3) a drugstore, with a prescription

3. Slight rashis ........c.cc..e..e. .
1) one of this drug's effects

3) a kind of stomach upset

PRAVACHOL
PRAVACHOL, when used with diet, is proven to reduce the risk of a first heart attack, lower the risk of death from

2) people with a risk of liver disease

4) people with a risk of heart attack

2) all grocery stores

4) some hospitals

2) highly likely to happen
4) a side effect of this drug
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=il Vocabulary Test
1. Don't laugh at her. She is very ............... about her appearance.
1) sensitive 2) amazed 3) gentle 4) particular
2. The ......cuuu.eee. on the old woman has scared many of the older people in the town.
1) resistance 2) fear 3) destruction 4) attack
3. You should mix up the .................. well before you put them in the pan.
1) symptoms 2) ingredients 3) foundations 4) mechanisms
4. I'm allergic to tomatoes. They bring me out in a ............... .
1) cell 2) rash 3) state 4) sense
5. This fire-prevention system is activated by any .................. increase in temperature.
1) slight 2) mutual 3) straight 4) main
6. I know he stole the money but I can't ............... it because I didn't actually see him.
1) proceed 2) threaten 3) prove 4) assume
UL feeling of hate and anger built up between them after only two years of marriage.
1) calculated 2) qualified 3) former 4) mutual
8. There is a need for more .................. between parents and teachers if we want our children to make more
progress.
1) interaction 2) observation 3) calculation 4) composition
9. He is used to a lot of attention from his wife which will certainly .................. when the baby is born.
1) evaluate 2) represent 3) distress 4) lessen
10. As we are short of money, itis ........c.ceuuees unlikely that the project will be finished on time.
1) mainly 2) highly 3) gently 4) actively
11. A: How did you get those green .................. on your shirt?
B: I fell on the grass during a football game.
1) spots 2) rays 3) dates 4) cases
12. The knee injury was a serious .................. to her chances of being selected for the school team.
1) function 2) upset 3) quality 4) exposure
13. According to his physical examination and blood test results, he was ............... a course of antibiotics.
1) relieved 2) warned 3) prescribed 4) operated
14. The degree of psychological support the patient needs depends on the type of the ............... performed on

him .
1) condition 2) surgery 3) section 4) symptom
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allergic
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* attack

* avoid

* diet

* disease
drugstore
grocery store
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* ingredient

* interaction
liver
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mutual

nurse(V)

* patient

* pregnant

* prescribe
prescription

* prove
rash

* reduce

* sensitive
side effect

* sign

* slight

* Spot
stomach
surgery

upset
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1. I didn't feel too bad really. I only had a mild ............... of flu.
1) pattern 2) period 3) lack 4) attack
2. She has always been encouraged to swim to build up the ............... of her muscles.
1) strength 2) bundle 3) supply 4) joint
3. The vaccines that doctors have developed since 1850 have helped to ............... many dangerous diseases.
1) build up 2) carry out 3) take in 4) get rid of
4. If it stops snowing, the mountain .................. operation to find the missing mountaineer will start early

tomorrow morning.

1) network 2) finance 3) gravity 4) rescue
5. To survive on the moon, men must wear special suits and carry their own ............... of oxygen.
1) mixtures 2) sections 3) supplies 4) ingredients
6. It is feared that people living near the power station may have been ............... to radiation.
1) yielded 2) exposed 3) battled 4) disrupted
7. You can simply ............... the risk of theft by locking your bicycle.
1) lessen 2) treat 3) relieve 4) rescue
8. This country needs a ............... government. We had three presidents in just two years.
1) stable 2) rough 3) slight 4) gentle
9. Some people believe that the ............... of a nuclear war is a very real danger of the twenty-first century.
1) threat 2) syndrome 3) compression 4) process
10. I'm aftraid only those with special cards can ............... into the pool area.
1) establish 2) proceed 3) float 4) recommend
11. His failure in chemistry course meant the ............... of Bob's summer plans for holidays.
1) collapse 2) scratch 3) schedule 4) involvement
12. The increase in air pollution has ............... our normal ways of life in big cities.
1) regulated 2) exposed 3) separated 4) disrupted
13. Using films that are .................. to ultraviolet radiation, scientists have taken a lot of pictures from the

sun's atmosphere.

1) relevant 2) critical 3) sensitive 4) magnetic
14. Some people believe that there is a .................. of confidence in the government's ability to manage the
economy.

1) beat 2) lack 3) spot 4) limit



15. The pediatrician recommended me to introduce different vegetables to add

16.

17.

18.

19.

20.
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1) instance

After we probed into the researcher's scientific theory, it was

1) directed

1) interacted

First you have to

1) drown

I have seen many

1) decisions

Diplomats have expressed hopes that the meeting will build

1) sporadic
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2) medication
2) proved

2) evaluated
salt in water, then add the water to other ingredients.
2) float

2) instances

2) previous
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3) result

3) assumed
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3) relations

3) mutual
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3) handled

The show's success was mainly due to the way the comedians
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4) variety
that it was entirely correct.
4) exchanged
with each other.

4) provided

4) condense
of cigarette smokers who have finally died of lung diseases.
4) syndromes
trust between their governments.
4) available
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to my child's diet.
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Challenge Negative Thoughts

Suppose you're late getting to work. Rather than berating yourself — "I'm always late" — keep your self-appraisal
accurate. Try to remember when you were last late. Yesterday? No, eight weeks ago. Are you late because you lazed in
bed? No, your teenager emptied the car's tank last night, so you had to stop for gas.

Imagine the worst-case scenario, but then picture the best. "I'm going to get fired", you moan. Not likely. Maybe the
boss gets caught in traffic and arrives even later than you.

Finally, look for a solution. Work through lunch or leave the house ten minutes earlier to allow for unforeseen
delays. Maybe it is better to think of failure as the result of a faulty strategy, not some character flaw. Then, instead of

feeling helpless, you can take action.

ﬂ Comprehension Check

1. If some day you're late to work, you'd better ............... .

1) make a good excuse 2) look for a solution 3) wait for getting fired 4) criticize yourself
2. An optimist usually .................. when he faces a failure.

1) takes action 2) takes a faulty strategy ~ 3) thinks negatively 4) thinks of failure
3. In line 4 "'the best' describes the .................. .

1) scenario 2) boss 3) picture 4) teenager
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=@l Vocabulary Test
1. So far, 51 blood samples have been taken and fortunately all of them have been .................. .
1) sensitive 2) negative 3) effective 4) preventive
2. Excuse me, I have a(n) ............... to make. The wrist watch I bought here keeps stopping.
1) instance 2) delay 3) failure 4) complaint
3.HiS coveneninnnnnns is quite different from his wife's; however, they are having a happy life with each other.
1) relation 2) character 3) schedule 4) interaction
4. I'm terribly sorry. The broken window is my .................. . Thit it with my ball.
1) excuse 2) purspose 3) upset 4) fault
5. It is believed that solar energy will provide a low cost .................. to our fuel problems.
1) solution 2) foundation 3) situation 4) decision
6. Social services were strongly .................. for not taking more actions to protect the children at risk.
1) recommended 2) forbidden 3) criticized 4) eliminated
7. Mr Brown left his office late because a last minute phone call ............... him.
1) lazed 2) fired 3) removed 4) delayed
8. You must be really ............... if you think that the bank is going to lend you all that money.
1) optimistic 2) financial 3) negative 4) popular
9. When carrying out the experiments, scientists faced ............... problems for a variety of technical reasons.
1) unforeseen 2) soluble 3) accurate 4) gradual
10. I got really surprised when our kind teacher talked to us so ............... for being late to class.
1) sharply 2) slightly 3) gently 4) commonly
11. The teacher didn't accept their excuse and ............... them for not doing their assignments.
1) disrupted 2) berated 3) lessened 4) battled
12. He's got a very confident personality and new ............... never frighten him.
1) challenges 2) discoveries 3) solutions 4) attractions
13. One of the abilities of computers is that they can store and repeat ............... of instructions.
1) conditions 2) experiments 3) inventions 4) sequences
14. We finally found some time to swim and ............... about on the beach.
1) flow 2) view 3) drown 4) laze
15. If he hadn't been so good at the rest of his job, I would probably have ............... him
1) delayed 2) affected 3) fired 4) supplied
16. Our boss was a gentle, reasonable person. He never raised his voice or ............... us unfairly.

92

1) scolded 2) detected 3) separated 4) distracted
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17. Games can teach children many useful things although some parents may

time.

1) view

18. She doesn't want to listen to your

1) moaning

...............

2) ignoring

19. His inability to admit that he's wrong is the only

1) tension

20. Actually, what is needed in such cases is a calm

1) occasion

21. The government has been heavily criticized for its

1) capacity

berate

* challenge

* character

* complain
container

* criticize

* delay
describe
empty(v)
event

* excuse(n)

* failure

* fault
faulty
flaw
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* had better

helpless

2) exposure
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3) direct
; she already has enough to cope with.

3) affecting

3) excuse

3) appraisal

3) measure

H word study

5il9

laze

* moan

* negative
optimist(v)
picture
scenario
scold
self-appraisal
sequence

* sharply

* solution
strategy

* suppose
tank
teenager

* unexpected

* unforeseen

view(Vv)

...............

in his character.
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them as a waste of

4) reacting

of the situation which you are in.
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Water for People
Without enough water the human body is soon unable to go on working. Our blood is mostly made of water. Blood
carries oxygen from our lungs and nutrients from our intestines to all parts of our bodies. Nutrients are the usual
chemicals that we take from our food. Water also helps to keep our muscles and joints running smoothly.
Some of this water is lost because we breathe it out. In cold weather we can see the water vapour condensing in the
cold air as it comes out of our mouths. We lose water when we sweat and when we go to the toilet. If we are ill, we

often have a fever and sweat more than usual. This is why, if we are ill, the doctor may tell us to drink plenty of water.

ﬂ Comprehension Check

1. Which of the followings is not mentioned in the text as a way of water loss?

1) breathing 2) fever 3) sweating 4) bleeding
2. According to the passage our body is mostly made up of ................ .

1) blood 2) water 3) nutrients 4) muscles and joints
3. Drinking plenty of water when we are ill help us ................ .

1) sweat less 2) replace water loss 3) absorb more nutrients ~ 4) condense more vapour
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=@l Vocabulary Test

1. If you feel any symptoms of this disease including high .................. and weight loss, you must immediately
phone your doctor.
1) syndrome 2) patient 3) attack 4) fever

2. It was so hot and humid that by the time we'd climbed to the top of the hill we were completely covered in

...................

1) sweat 2) distress 3) smog 4) heat
3. The novel was too long so the magazine asked me to .................. it for the readers.
1) represent 2) suppose 3) classify 4) condense
4. This cream is recommended by many doctors to help keep your skin soft and .................. .
1) smooth 2) compact 3) sensitive 4) primary
5. Check that any medication you're taking .................. no risk for your developing baby.
1) supplies 2) challenges 3) carries 4) eliminates
6. The new government is planning effective measures to keep the economy .................. well.
1) viewing 2) running 3) causing 4) fixing
7. The ..cccuvrenennnn.. content of any food is all the substance in it which help you to remain healthy.
1) appropriate 2) critical 3) straight 4) nutritional
8. After a while, all that unknown liquid .................. and formed a huge cloud of gas.

1) condensed 2) dissolved 3) vaporized 4) flowed
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Tom and Danny

Tom and Danny will both sit for the General Certificate of Education (GCE), Advanced Level, next June. Tom has
already taken the examination once. He sat for it last year, but he had not worked hard enough and he failed. If he had
worked harder, he would have passed it. If he had passed, he would have been admitted to the university last October.
His failure has made him work harder this year. He must get a place at the university this year. If he fails to do so, he
will have to leave school and find a job. He knows that his parents will be disappointed if he has to give up hope of a
university course.

Danny is certain to pass the examination, although he will be taking it for the first time. He is a clever student. He
passed the Ordinary Level Examination two years ago with distinctions in six subjects. With this record, if Danny failed

the Advanced Level Examination, everyone would be very surprised.

H Comprehension Check

1. Which sentence is not true?

1) Tom has already taken the exam twice. 2) Tom and Danny are going to sit for GCE next June.
3) People who know Danny are sure about his success. 4) Failing for Tom means leaving school.

2. The word "disappointed" in line 5 is the apposite of .................... .
1) pleased 2) desired 3) annoyed 4) dissatisfied
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3. It can be concluded from the text that ............. .
1) Tom's parents are already praud of their son. 2) Danny is a smarter student than Tom.
3) Tom can find a job if he passes the exam. 4) Tom was admitted to the university last October.
=@l Vocabulary Test
1. Just put on your .................. and informal clothes because it's not a special occasion.
1) satisfied 2) ordinary 3) advanced 4) primary
2. Please make sure the legs of the table are all .................. in length.
1) faulty 2) smooth 3) straight 4) equal
3. After the bomb's .................. , the terrified children were taken to shelters and safe places.
1) explosion 2) appointment 3) invention 4) experiment
4. There's no reason to be S0 .................. . As a matter of fact, this could be rather amusing.
1) interested 2) disappointed 3) limited 4) distinguished
5. The old man and his assistants took hundreds of photographs of the war which then formed a valuable
historical .........cceeeeens .
1) record 2) lecture 3) order 4) measure
6. Passing this exam will enhance your chances of being .................. to our college.
1) dropped 2) admitted 3) recognized 4) located
7. There was a strong feeling of .................. with the way the government was running the country.
1) exaggeration 2) distinction 3) explosion 4) dissatisfaction
8. You need a medical ..................... to prove that you were too ill to work.
1) interaction 2) certificate 3) patient 4) surgery
9. Professor Smith is not available right now, but he's going to deliver a .................. on the history of art at 11
o'clock.
1) stage 2) desire 3) mention 4) lecture
10. It's not a(n) ......ccveen.e. to say that without your useful information we would have never been able to find

our missing son.

1) exaggeration 2) admission 3) distinction 4) statisfaction
11. All her marks were average except her favorite .................. , mathematics, in which she got a distinction.
1) quality 2) subject 3) record 4) basis
12. Scientists have developed a test to detect the presence of cancer in the body at an early .................. .
1) scen 2) event 3) stage 4) instance
13. At tonight's celebration we have several .................. guests so I expect all of you to be on your best
behaviour.
1) distinguished 2) disappointed 3) dissatisfied 4) distressed
14. The teacher's angry words achieved the .................. effect and made the lazy students work harder.

1) negative 2) desired 3) ordinary 4) mutual
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Computers Everywhere
You will find computers almost everywhere. In large supermarkers, a computer is connected to the tills. It keeps a
record of money taken and goods in stock. It can also work out the staff's wages and print their pay slips. Hospitals use
computers for storing and looking up patients' records. Design offices can use them instead of drawing boards and
pencils to prepare all their plans. In car factories, computers run the machines which do the drilling and paint-spraying.
Computers control all the flights coming in and out of large airports like Mehrabad. They can work things out faster
than humans. The people who decide how to use a computer to do a particular job are called system analysts. The

people who write the programs are called programmers.

H Comprehension Check

1. Which of the followings is not mentioned as a use of computers in supermarkets?
1) keeping the record of money 2) printing pay slips
3) doing paint-spraying 4) working out the wages

2. Which sentence is true according to the passage?
1) The main use of computers in supermarkets is to keep a record of staff's names.
2) In car factories computers do the drilling and paint-spraying.
3) Programmers are those who decide how to use a computer.

4) Computers can be used instead of drawing boards.
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3. The underlined word ''particular'' in line 6 is a synonym of ............... .
1) special 2) intelligent 3) artificial 4) reasonable
=@l Vocabulary Test
1. My boss had to fire many of the .................. when the company faced financial problems.
1) employees 2) orders 3) payments 4) tills
2. Our experts are trying to .................. the substance to see what it is made of.
1) connect 2) input 3) estimate 4) analyze
3. In most countries there is a vast difference between the income of the rich and the ............... of ordinary
people.
1) wages 2) forms 3) slips 4) stages
4. A: Where does the company plan to .................. for oil?
B: Most probably in the ocean.
1) sort 2) rely 3) drill 4) fill
5. Students in this class are .................. in three ability groups in order to receive appropriate teaching.
1) added 2) designed 3) proved 4) sorted
6. Before you start delivering your lecture, make sure all your notes are in .................. .
1) aspect 2) order 3) focus 4) point
7.1 don't recommend you to get a job here because the management makes too many demands on its ...............
and pays no attention to their needs.
1) staff 2) formation 3) respect 4) stock
8.Igot Tomto ............... the total cost of repairs but I don't think his calculations are accurate.
1) work out 2) carry out 3) call out 4) run out
9. I'm afraid two items on your shopping list are out of .................. at the moment.
1) stock 2) till 3) data 4) reach
10. Let's start today's meeting by ............... the decisions which were made in our previous meeting.

1) going through 2) filling in 3) building up 4) logging on
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=g Reading Comprehension

.\ Reading

Skyscraper

About six million people live in Hong Kong, a city on the coast of China. There is very little space between the
mountain and the sea. So people live in tall blocks of apartments, one family above another. These skyscrapers, as
they are called, allow people to live and work together wherever space is limited. The cities of New York and Chicago
in the United States, Tokyo in Japan, and Sao Paulo in Brazil are all famous for their skyscrapers.

The first skyscraper was built about 100 years ago in Chicago, in the United States. It had only 10 floors but is was
the first building to have a framework of steel beams. The framework supports the floors of the building rather than the
walls. The use of steel was an important advance in building skyscrapers. Steel is stronger than iron. This makes it

possible to build very tall steel structures. The steel framework is covered with panels called cladding.

H Comprehension Check

1. People in skyscrapers .................. .

1) live and work together 2) work together but lived separately

3) are limited in population 4) live in unlimited spaces
2. The first skyscraper .................. .

1) had only 10 floors 2) was built 1000 years ago 3) had framework of iron  4) was built in Hong Kong
3. Steel beams in skyscrapers support the .................. .

1) walls 2) floors 3) ceilings 4) doors
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4. The use of steel was an advancement in building skyscrapers because .................. .
1) iron is not as strong as steel 2) iron is stronger than steel
3) steel makes buildings look taller 4) it protects the floors

=@l Vocabulary Test

1. Having completed their mission, the soldiers are returning home after a two-year .................. from their
families.
1) resistance 2) disappointment 3) dependence 4) separation
2. Such a diet is widely assumed to offer .................. against certain cancers especially intestine cancer.
1) protection 2) conclusion 3) prescription 4) interaction
3. If you go to Bandar Abbas, you can see a number of islands off the ............... .
1) field 2) path 3) surface 4) coast
4. An architect must have good knowledge of the materials that will be used in his ............... .
1) structure 2) organization 3) feature 4) presentation
5. The bombs were planted at the base of the two large columns .................. the roof, so when they exploded

the roof suddenly collapsed.
1) challenging 2) supporting 3) providing 4) collecting
6. A iiiiiiinininnn, of light is a line of light that shines from a bright object such as a torch or the sun.
1) panel 2) beam 3) current 4) frame
7. As he's a very popular singer, I think it's reasonable to buy our tickets for his concert well in ............... .
1) schedule 2) interval 3) delay 4) advance
8. The ship sank off the coast during the storm but all the sailors managed to swim to the .................. .

1) floor 2) ocean 3) wave 4) shore
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EETAESE Lessons 16 - 20

1. After a while the fog lifted, and the beautiful mountain suddenly came into .................. .
1) stage 2) vapor 3) spot 4) view
2. I don't mind constructive ...........ccceeuee. but there's no need to be so unpleasant.
1) criticism 2) exposure 3) attack 4) character
3.1feel.....cccuvuueneens with you. I thought I could rely on you but obviously I can't.
1) distinguished 2) amazed 3) disappointed 4) exhausted
4. I'm afraid the fact that he's having difficulty breathingis a ............... sign.
1) negative 2) global 3) preventive 4) general
5. Peter is always ......ccceeeneens about something, which is stupid because he has a very pleasant life.
1) relieving 2) attacking 3) moaning 4) threatening
6. The President declared himself .................. with the progress of the talks and expressed hopes to reach an

agreement with the unions in the near future.

1) distinguished 2) advanced 3) distressed 4) satisfied

7. But soon he discovered that trying to be a famous scientist is quite a ............... .
1) mixture 2) solution 3) method 4) challenge

8. I have to make a .................. about your poor service and the rudeness of your staff.
1) complaint 2) failure 3) conclusion 4) summary

9. Lightweight concrete is used on many skyscrapers and other large .................. all over the world.
1) functions 2) experiments 3) contents 4) structures

10. The problem he was facing seemed quite .................. , but actually he didn't know how to solve it.
1) amazing 2) ordinary 3) critical 4) advanced

11. This chair is well made, apart from this small .................. in its back.
1) fault 2) sort 3) quality 4) state

) R N to the problem of unemployment in villages is to encourage the development of small

businesses there .

1) construction 2) distinction 3) solution 4) position
13. We were .....ccceveeenee. by heavy traffic a lot; however, we managed to catch the last train.
1) attacked 2) refused 3) located 4) delayed
14. Not all parts of a magnet have .................. attractive force; it's middle part has less than the poles.

1) equal 2) direct 3) particular 4) primary
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15. The president decreased the size of our .................. from 36 to 24 people due to growing costs.
1) wage 2) stock 3) till 4) staff
16. When she agreed to marry him, he felt that he had achieved his heart's .................. .
1) desire 2) trough 3) event 4) action
17. At the police station he eventually .................. stealing the money but denied taking the credit card.
1) resisted 2) disrupted 3) supposed 4) admitted
18. To our great disappointment, there was a ........c.cc.cu.ue. number of apartments in that area which were
worth living in.
1) advanced 2) limited 3) desired 4) calculated
19. An ocean current off the eastern .................. of Japan brings warm water from near the equator.
1) humidity 2) bundle 3) coast 4) sequence
20. She was ....c.cceevnnnnes about her chances of being admitted to university although she hadn't studied hard.
1) optimistic 2) dissatisfied 3) nervous 4) effective
315 aalibwly
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=g Reading Comprehension

.\ Reading

Public Spirit

Each nation has its own peculiar character which distinguishes it from others. But the peoples of the world have
more points in which they are all like each other than points in which they are different. One type of person that is
common in every country is the one who always tries to do as little as he possibly can and to get as much in return as he
can. His opposite, the man who is in the habit of doing more than is strictly necessary and who is ready to accept what
is offered in return, is rare everywhere.

Both these types are usually unconscious of their character. The man who avoids effort is always talking about his
"rights": he appears to think that society owes him a pleasant easy life. The man who is always doing more than his
share talks of his "duties": he feels that every individual is in debt to the society, and not society to the individual. As a

result of their views, neither of these men thinks that he behaves at all strangely.

H Comprehension Check

1. What type of people is common in every country?
1) Those who always talk about their rights. 2) Those who talk about their duties.

3) Those who do not care about life. 4) Those who always try to do their best.
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2. Which group feels they are behaving strangely? ............... .
1) Those who feel that the individual is in debt to society.
2) They both believe their behavior are completely normal.
3) Those who feel that society owes him a pleasant life.
4) Those who feel that society is in debt of the individual.
3. Those who avoid effort think that ............... .
1) society owes him an easy life 2) they are unconscious of their character
3) individuals are in debt to the society 4) they are rare in the world
=@l Vocabulary Test
1. My brother knows everything about his private life because he is one of his ............... friends.
1) ordinary 2) intimate 3) efficient 4) proper
2.He has ............... to break the world record many times, but he hasn't succeeded yet.
1) advanced 2) exaggerated 3) evaluated 4) attempted
3. If T had already been informed that he never pays his .................. , I wouldn't have lent him any money.
1) tills 2) wages 3) shares 4) debts
4. The primitive man faced many .................. because he had not learned how to use the natural resources.
1) discomforts 2) centuries 3) solutions 4) attempts
5. This job cannot be done by an individual. It needs collective .................. .
1) appointments 2) tasks 3) efforts 4) territories
6. The heavy rains we have here each spring .................. serious flooding and a lot of damage.
1) bring about 2) carry out 3) goon 4) hold up
7. The president .................. the meeting. He talked about different political issues.
1) recommended 2) addressed 3) complained 4) hypothesized
8. The stress caused by each animal's personal .................. being decreased makes them react.
1) territory 2) mechanism 3) compression 4) challenge
9. There'sno ....cccocevveneens in continuing with the game if you won't obey the rules.
1) point 2) choice 3) loss 4) sort
10. Parents should .................. their children to be responsible members of their society.
1) work out 2) look for 3) screen out 4) bring up
11. They have established a new company and have asked us to .................. them up.
1) bring 2) stand 3) pick 4) back
12. It's my first time that I am having a Chinese dish. It has a(n) .................. taste that I don't recognize.
1) equal 2) peculiar 3) ordinary 4) limited
13. Since his blood cholesterol was too high, his doctor recommended him to goon a .................. diet.

1) strict 2) gentle 3) poor 4) close
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14. You have no choice but to admit writing that offensive letter; everybody's sure that the handwriting

.................. to you
1) scolds 2) belongs 3) creates 4) owes
15. I chose music as my favorite field of art because I strongly believe that there's something about music that
.................. it from all other art forms.
1) represents 2) distinguishes 3) parallels 4) stabilizes
16. I am sure a bit of exercise can help you lessen your distress and lift your ............... .
1) spirit 2) desire 3) flaw 4) upset
17. You are not allowed to hunt these birds because they are very .................. , and protected by law.
1) slight 2) rough 3) excess 4) rare
18. He's always wearing expensive clothes because he believes our clothes reflects our ............... .
1) personality 2) appraisal 3) mention 4) instance
19. If someone is a(n) ....ccoeevvenenne. of a country, they are legally accepted as belonging to that country.
1) member 2) employee 3) spirit 4) citizen
20. The boy was an addict and as a result .................. a lot of people money for drugs.
1) saved 2) filled 3) owed 4) carried
21. They both began to .................. from the man holding a knife, aware that the situation was getting out of
hand.
1) back away 2) bring up 3) back up 4) bring about

Part III Cloze Test

Our territory can be divided into four zones. The most important one is the intimate zone. People who are

emotionally ...... (D......... to us enter this zone without causing ...... 2)......... . When a person who does not
...... (3)......... to this group comes into this territory, our heart may ......(4)......... faster. Weusually ......(5).........,
to get out of this situation as soon as possible. The next zone is the personal zone which is the ...... ©)......... at which
we feel comfortable having a(n) ...... (@) - friendly conversation, for example at a party. After that comes the
social zone, the distance we like to keep from ...... @&).eennnnn. and people we don't know very well. Finally, there is the
public zone, which shows the distance we would choose when ...... 9)......... a large group.

1. 1) strange 2) close 3) social 4) public

2. 1) effort 2) criticism 3) behavior 4) discomfort

3. 1) belong 2) refuse 3) remain 4) agree

4. 1) supply 2) beat 3) increase 4) treat

5. 1) back away 2) bring about 3) back up 4) bring up

6. 1) activity 2) character 3) distance 4) emotion

7. 1) peculiar 2) satisfied 3) ordinary 4) intimate

8. 1) structures 2) citizens 3) relatives 4) strangers

9. 1) amazing 2) addressing 3) advancing 4) attempting
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address(v)
* attempt
back away
* back up
* beat
* belong to
* bring about
* bring up
* care about
citizen
close
* debt
discomfort
distinguish
duty
* effort
in return

* intimate
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Lesson?) )

=g Reading Comprehension

.\ Reading

Ancient Civilizations

In the history of the world there have been many great civilizations, that is, many nations have built up a particular
way of life for themselves with men living and working together, each at his own trade or skill, to make a shelter and
prosperous existence. These nations, which were formed when families and tribes drew together to live in communities,
built fine towns and cities where artists and craftsmen, priests and statesmen gradually brought about the new way of
living and thinking that made up what is often called the civilization of a nation. People living today also belong to a
civilization and will one day be given a name.

The names of some of these great civilizations are given below: Sumerian, Egyptian, Babylonian, Assyrian, Persian,

Hittle, Hebrew, Aegean, Phoenician, Greek, Roman, Moqul, Chinese, Aztec and Inca.

H Comprehension Check

1. Most civilizations were formed by nations .................. .
1) building up a particular way of life 2) choosing their own skill and trade
3) just finding shelter for themselves 4) having a powerful government

2. The people of a nation .................. .
1) were all relatives 2) weren't living and working alone

3) didn't have their own skill 4) couldn't build shelters
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3. People living today ..........c.c..... .
1) don't belong to civilization 2) don't have a civilized nation
3) don't have a particular name for their civilization ~ 4) don't have a particular nation
. usually make up the civilization of a nation.

1) Artists and priests 2) Priests and statesmen  3) Living styles 4) Ways of living and thinking

=@l Vocabulary Test

1. When men became organized into groups, and .................. developed, protection against danger got easier.
1) civilization 2) discomfort 3) challenge 4) agreement
2. A: Were you ......ocevevennnns by her impoliteness?

B: Not really. But I didn't expect her to shout at me.

1) ignored 2) distracted 3) offended 4) presented

3. It is predicted that this region will have a(n) .................. future because of its valuable natural resources.
1) prosperous 2) critical 3) regular 4) ordinary

4. Without their key players, the team suffered a heavy .................. in the cup final. The final score was 4-1.
1) attack 2) effort 3) scratch 4) defeat

5. Primitive man depended on nature for protection because he hadn't learned to build .................. .
1) flocks 2) shelters 3) sections 4) abilities

6. The government has made plans to ..................... the railway to the north of the country.
1) parallel 2) recommend 3) regulate 4) extend

7. Nowadays the police are being heavily criticized for not being able to find the man who did several

.................. attacks on defenseless old people in the city.
1) savage 2) private 3) actual 4) negative
8. International organizations have spent a lot of money to civilize those savage .................. in the jungles of

Central Africa.

1) islands 2) stages 3) beasts 4) tribes
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Part III Cloze Test

We usually study about great generals and soldiers in history books. On the other hand, the people who really help

human ...... (@) R make progress are seldom ...... () R . People respect these fighters by placing their
...... (3)......... in great cities around the world. Many people think that the most ......(4)......... nations are the ones
who have defeated other countries and ...... () T over them. But people must understand that fighting
...... (6)......... killing innocent human beings so they should learn to ......(7)......... fighting and killing. As
individuals we have learned to behave in a way not to ...... (€ FE— others. However, countries have not learned to do
this yet, and still behave like ...... 9)......... . We can only hope that some day man becomes ...... 10)......... and ends
his ...... (1)......... behavior as soon as possible.

1. 1) framework
1) estimated
1) statues

1) limited

1) ruled

1) permits

1) back up

1) defeat

1) artists

© X N A w D

10. 1) interesting

11.1) former

2) civilization
2) supposed

2) tribes

2) successful

2) berated

2) involves

2) draw together
2) offend

2) citizens

2) extensive

2) savage

3) dependence
3) extended

3) priests

3) faulty

3) resisted

3) manages

3) give up

3) satisfy

3) beasts

3) intimate

3) excess

4) territory

4) mentioned
4) regions

4) sensitive
4) battled

4) matches

4) bring about
4) express

4) statesmen
4) civilized

4) stirict



132

artist
* attack
* civilization
* community
craftsman
* defeat
draw together
* extend
general(n)
* gradually
* grateful
nation

+ offend

P9 OLSSI

Aoy

oS dles

el

os)f ‘éuml?

O Sl

gl o )5

O by

JI55 (e rl )
TN L

Ogee ¢yl 3ol

Oa)f C,ol)l}

*

word study

Q sy

priest
* progress
prosperous
respect
rove
rule(v)
savage
seldom
shelter
skillful
stateman
statue

tribe

The New Bridging the Gap

SB9) (S
B9y n 09l
CsliS ol
OIS Jg e0) dw
s ol 55,5 e
iy

Sy &

oSl coliy oo

solo

el

dowsre



133
The New Bridging the Gap

\"I" WS S low awb

Sl g yoed

ol 2 a8 lodygl sg2g a (liags (gl (S5 (ol (soged S plodl (6l 48 ol Sty A 2925 (Sl S50 sloppded oy )
3,5 3l as plgdl (b 35l gy 0 (55 9 0l peo 393 (sl Llgy B 3j15y 0 395 ) 9 43> &y (S g it (S5) 9 )15 4 Jgadie o LS 5 31,31
9 0959y () yixico oo pin b )] 5 a8 st lo Luj ola s g WS jad didgs ol 3939 4 dmels K 45 (S5 (sl alud g bodlgls el o
Sy S o (S5 oyl 45 o (020 39500 00 o (] (8 (0905 o) 45T 00y sy B 9 (S5 el e (loged gy 4 ool
A dalgd oalgs L'j 2o 9y &S b Blai s

5J9_xa «9) ‘u.‘l)y ‘59445 m)l (S ‘J».:z, LLSJI)JI ‘6)9.\01 ‘L;bb (a0 (S poguw yded HI W 03)9] l> LYI )0 j)).‘ LSLQ’LJ"\N LYI )I 6.)]..\» (:L‘
Sl g S5l

(1) s — ¥ (1) csoss = ¥ () s = ¥ News— @

1065y s Jlaw gl

A ol ahlas ply s cblis )8 cd iy cded 5 b Glojls olbeg)S Oyso 4 lul By ez S2e (1) sais S -

Wlodlgsls v o b (ydeie) CiVilized o g (9,5 (ydoie) CLVILIZE Jub € y2ed» m Civilization mul #

the civilization of ancient Greece Obuols Uy ed
B8l — ¥ 05 ke (il — ¥ =Y Ay ple e

W30 005 py 5 il sl o) g bl 5 spgn yi S B gl ol bl U i) i e gz (V) GigyS ¥

el opgs) Offensive ciaws g (py> compgs ( >,b) offense wul 5l w5,lke ol pae slaodlglipn €l 5l (3,8 col)b> x offend Jab s
oS cal )b

Be careful what you say to her — she takes offense very easily. Db oo Cal)l sty d gl = (065 0 4 ol 4 3L Cblge
offensive behavior / words / ... SO IENTSS I N
o3 Shi= ¥ ol 35 Cp= Y S O e . P

Al 4l Fgy o (glosn] 363 diedjl aub wlie (il > 4 Al ol 45 258 0 iy e Soe (1) AT -Y

@le—¥ (Jgone it — ¥ U S

25 Syl 2185 (S b (e CanSW Jaorie (2ls el US43 jpdn G ple Jid gl )3 o 1oz 2o (£) AT -E

sl B3l e (€l CanSi» xe ) beAt b b aS 5 )b oo (Jab s acdS ol €anSli» in defeat
We've had two victories and three defeats. w2l CanSs dw g (G990 Lo

ol =Y M=y dex— ) ibal S ple bxe



(] B ICompatibility Mode] - MhersefWora L W T, (E=2Ell ]

Insert Home Page Layout References Mailings Review  View MathType Acrobat Design o @
EE - f =] EE 7 =P (5 Previous [ Different First Page S HeaderfromTop:  175em -
=l = # =| [ BE . 9 5
5 Next Different Odd & Even Pages | [} Footer from Bottom: 125em >
Header Footer  Page Date Quick Picture Clip Goto o3 Close Header
= i e e e At or Footer | 28 Link to Previous Show Document Text [5) tnsert Alignment Tab S toae
Header & Footer Insert Navigation Options Position Close
H2- 032 4d-d- & 7550 FA- G- - REE- A S0 - Times New Re - | Header -G s
E‘\-u-)ﬁ"w‘1‘w‘2‘w‘1-|-4-|-5‘w‘5‘w‘7lw‘e-|-9-|-ln‘|-11- g2 eI R Vi E S I i) SR |
= : :
g : -
Footer -Section 1- |
z The New Bridging the Gap
- | teader Section 3- | | Same as Previous
; d| > Olgw Awl
: Wy JDIgWwW
=
- A d
il z
[+]
-
i *
4 | il | »
Pagei125 Page:50f34 At 2.5cm | Words: 9970 | ¥  English (US) | I%]Eﬁ B E = 160% (-) i) {+)

=) N AT & ("j@], ” BN~ gt

Dl DALY oS 35 48,550k 155 39 dtanly Connb 4y 393 jl cblis gl gl Gl idloz e (V) sak 5 -0

bl —¥ Oy Caamd — ¥ g - a5 plo gxe
B (0 S oS Jlad &y |y lely 485> pranal gy rdhom G2e (E) GAda)S -7

€yl slael 43,87 5103 ¢ paly [ ¢, > m extend Jab

I extended my visa for 6 months. £35S Haasole £ 1y wiling e
The garden extends all the way to the river. )1 sluel &l83g, B L oy

03 S crumg) EXIENSIVE o g (L piuS eolitel ey le3) EXLENSION ol | 5yl Jab (] (slaodlgsls o2

The school has extensive playing fields. D)1 Laws (53b slape) dwyte
an extension to their visa Olialig e L6

O3S bt — Y O3S Aoy =Y o oMb il =) S pl b

4y ool ool bl B gy 381 4 dilpding galos (i & (S )5 I 3 SIS LB @ el ajg) ol ille gme (1) S -V
(«gls > x defenseless g «glboy s defense puwl) cuol slinl 5)g0 s

e — ¥ By =¥ soyad =V Ay ple s

et |y 655 ye il GlaSir )3 02 oy U wlsn U wles S g3 ook I Mellom sleglejle idhe (five () aipS A

d>g Oly ylea = ¥ d>pe— ¥ o=V kA ple s



135
The New Bridging the Gap

Cloze i Awb

e
by L o (ool 81 e ()b ol 13) 503 Byl Sl oS om alllan S50 slalyis 5 il & @2y )b GBS )3 Yans Lo
=B el Lagl sl la ylis 9 S)j sl jaed 53 pligzSin ol sladancme (313 )18 L p3ye ol 00 0Ll )05 4y Wlod 5SS Loy
A5 A togdy il poye Lol iladl dlabe bl g 13,8 ae 1505 (cloyeciS &y 4wt _losT 9l s 5 3090 A8 o S5 p3ye 5| (6 )khus g e
A4S 0S Lby gysb 4 malid S 3l dljmre 31 lyie 4 Lo dad 5l Cawd S 5 Kin 5l 0k p3ye ey ol 0l o (sl sl 23S pilie Sin
ol oo bad Lo LS (00 5B (oding Sl ABlo o Soi g IS )3 4598l O I )SS 0k a5l gdge cnl o ke gt LS0d (U el

23 4c5ls 3¢5 (sailuing (ola )k, 4y yins yw do b g 9 etie 0] ) el &S wail lgael

o gl
(V) sau5— ¥ (V) gaus—Y (f) g —v (¥) saus— )
(V) gaus —A (¥) gauys -V (V) gauys —# (V) gans—0

(V) gaus =) (F) gaus — Ve (V) a5 — 2



Lesson) 3

=g Reading Comprehension

.\ Reading

Gary's Adventure
Gary Smith yesterday celebrated his 18" birthday, and he is so happy to be alive. In March this year, he was
climbing Ben Neris, Britain's highest mountain, when he lost his way and spent three days in freezing air.
"My friends laughed at me for having so much equipment, but it saved my life." On the first night the weather was
so bad that he moved into a nearby house for the night. He left the house at 10:00 the next morning, but he was soon in
trouble. "I fell off a rock and hurt my knees. I couldn't move."

Mountain rescue teams went out to look for Gary, and found him at 1:00 in the morning. A helicopter took him to

hospital, where he had several operations. "Next time I'll go with my friends not on my own," he said.

ﬂ Comprehension Check

1. Gary Smith believes his survival is because of his ..................... .

1) happiness 2) equipment 3) fitness 4) bravery

2. Which sentence is not true according to the passage?

1) Gary was happy because he survived in freezing air. 2) He couldn't move due to knee injury.
3) Several operations were done on him. 4) He was lost because he didn't have enough equipment.

3. The word '"'rescue'' in line 6 is closest in meaning to ............... .

1) save 2) equipment 3) injury 4) adventure
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=@l Vocabulary Test

1. Hoping for excitement and .................. , all the group were in agreement with me to try mountain climbing.
1) adventure 2) equipment 3) operation 4) resistance
2. In the old days, all the farming .................. was made and repaired in the village.
1) furniture 2) support 3) exposure 4) equipment
3. All the children got .................. at seeing how skillfully the old craftsman worked.
1) fascinated 2) disappointed 3) exhausted 4) dissatisfied
4. It was only a mild heart attack, but enough to give hima .................. .
1) decay 2) failure 3) scare 4) defeat
5. Everything was excellent in the hotel. The only annoying thing was the .................. servant.
1) rude 2) keen 3) slight 4) firm
6. The company pays the .................. to return the empty cans, which are then melted down and reused.
1) customers 2) wages 3) characters 4) supplies
7. When he was last operated on, the doctors tried to remove all the .................. cancer cells.
1) desirable 2) negative 3) invasive 4) critical
8. They invited me for dinner in a Chinese restaurant but I wasn't .................. to join them.
1) keen 2) afraid 3) rude 4) gentle
9. I didn't know anybody at the party, but the host came to my .................. by introducing me to a few people.

1) stage 2) desire 3) fault 4) rescue
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=g Reading Comprehension

.\ Reading

Work Laws

People in factories often work under difficult conditions or have to do jobs that put a severe strain on them. It has,

therefore, been found necessary to have laws making sure that they do not come to any harm because of their work.

The early laws of the 19" century were made at a time when children still worked in factories, and they limited the
number of hours that children were allowed to work. The man who did most to bring in these laws was the 7" Earl of
Shaftsbury who was shocked by the conditions in which women and children had to work in factories.

Today the laws cover safety, health and welfare, as well as working hours. As Britain was the country where the
system first grew up of producing goods in factories instead of in craftsmen's cottages, it was Britain that first brought
in factory laws. Factories are clean and properly heated and lighted. They must protect their workers by fencing

dangerous machinery. Places for washing and first aid must be provided and hours must be reasonable.

H Comprehension Check

1. The word "'severe'' in the first line is closest in meaning to .................. .
1) satisfying 2) serious 3) limited 4) reasonable
2. The 7th Earl of shaftsbury .............. .
1) put a severe strain on workers 2) forced children and women to work harder

3) was shocked by early work laws 4) helped a lot to improve working conditions
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3. Which sentence in not true?

1) The first work laws were made for children.
2) Workers’ safety and welfare is included in recent laws.
3) Britain was the first country that brought in work laws.

4) Today, the number of work hours for children is limited.

=@l Vocabulary Test

1. Up to now, we've received a number of complaints from your staff; they believe you don't care about their

1) employees 2) equipment 3) supplies 4) welfare
2. Not having reached any agreements, the two neighboring countries are now beginning to ..................

themselves for war.

1) hunt 2) arm 3) resist 4) battle
3. When a government or an organization ..................... a new law or system, they introduce it.
1) brings in 2) brings up 3) brings about 4) brings back
4. Strong walls protected us and helped our soldiers to .................. our city for many days.
1) attack 2) defend 3) challenge 4) defeat
5. After two hours at the police station, the man .................. admitted that he was guilty.
1) eventually 2) gratefully 3) severely 4) efficiently
6. The worries that he faced each day in his job caused him great .................. .
1) income 2) position 3) support 4) strain
7. His chest pain was S0 ...c..ccceueeenen. that he was forced to call his doctor in the middle of the night.
1) severe 2) negative 3) sufficient 4) effective
8. Jack went wrong while calculating the .................. . Now he must do it all again.
1) features 2) decisions 3) expenses 4) interactions
9. I took me two days to put up a new .................. in the back garden after it fell down in the high winds last
week.
1) shelter 2) foundation 3) fence 4) solution
10. These new measures are designed so as to improve and guarantee our children's .................. in schools.

1) possibility 2) quality 3) variety 4) safety
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* arm(V)
armor
bring in

* care for
coming(adj)

* defend

* device
earl

* eventually

* expense
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Lesson) 5

=g Reading Comprehension

.\ Reading

Newspapers

The first job of a newspaper is to give some news, and in national newspapers this has to be collected from all over
the world. Social and provincial newspapers, of course, are mainly concerned with news of local interest.

To collect and organize the news, the editor of a national newspaper has under his supervision a news editor who is
concerned with all the news happening in the country, a foreign editor whose business is news in the rest of the world,
and a sports editor.

Work begins for the news editor when he opens his diary, looks at the program of events for that day, and decides
where to send his reporters. Many reporters are experts in their particular jobs. If a particularly important and exciting
event has to be covered, the news editor will send out a descriptive reporter who can write in an expressive and lively

way.

H Comprehension Check

1. The editor of a newspaper ............ccce.e... .

1) supervises some editors 2) gathers local news

3) supervises national events 4) reports exciting events
2. The provincial newspaper has ............c........ .

1) news from the rest of the world 2) news of the local interest

3) special sports edition 4) an special edition
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3. For the editor, work begins .................. every day.
1) sending out reporters 2) sending out descriptive reporters
3) deciding where to send reporters 4) deciding to write expressive and lively news.

=@l Vocabulary Test

1. Every year the photography club ..................... at the state park to photograph birds that migrate south for
the winter.
1) locates 2) gathers 3) broadcasts 4) fascinates

2. The public high school near your house is attended almost completely by ..................... children.
1) primary 2) total 3) severe 4) local

3. Having spent many years of his life in Africa, he has a very wide knowledge of their political .................. .
1) affairs 2) expenses 3) solutions 4) stages

4. What he was saying was not ..........ccceeeueees enough to give a good picture of the event.
1) positive 2) sensitive 3) expressive 4) repetitive

5.The ccceevnviniiennnnnnns is now in the newspaper room trying to find a particular article about the new system of
education.
1) volume 2) magazine 3) broadcast 4) editor

6. A: My wife and I are relatives. Do you think our baby will have any genetic problem?

B: I don't know. You should get the advice of a(n) .................. .
1) safety 2) expert 3) medicine 4) character
7. We couldn't get a ticket but we watched a live ..................... of the concert on giant video screens outside

the stadium.

1) broadcast 2) description 3) adventure 4) edition
8. You should display new books in a .................. position at the front of the shop where they can be easily
seen.
1) cultural 2) fashionable 3) descriptive 4) prominent
9. The ...ccuvvvveneen source of fresh water in the region is this small lake.
1) primary 2) extreme 3) formal 4) intimate

10. How a person perceives or experiences the world around him is a matter many psychologists are trying to
1) suggest 2) determine 3) consider 4) combine
11. Students are not allowed to carry out any chemical experiment without their teacher's ..................... .

1) supervision 2) equipment 3) exception 4) appointment
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12. Both sides expressed hopes that the

increase in the near future.

1) satisfied

2) gradual

.............

and educational exchanges between their countries will

3) expressive

4) cultural

13. Normally my brother wore formal clothes, but this evening was clearly a(n) .................. .

1) condition

14. The President repeatedly

disturbance.

1) attracted

2) expression

2) concerned

.....................

3) description

3) affected

4) exception

the need for calm in TV and radio broadcasts during the

4) stressed

15.If you look .......cccueueen. at many of the problems in society, you'll find that they're due to poverty.

1) closely 2) directly 3) mostly 4) probably
16. As it was expected, the increase in gas price made a great .................. on the economy and people's

lifestyle.

1) peak 2) offense 3) stock 4) impact

Part III Cloze Test

News give us information to help us understand the world around us. Generally, newspapers and ...... 1).....e..
stations stress what affect us — news of government, cultural ...... 2)......... , business activities, etc. We are also
...... (3)......... in learning about usual events and daily activities of ......(4) known people.

The news ...... of an event can be judged by its ...... ©)......... on people, its unusual nature, and the
...... (7)......... of the people involved. The first (8)......... a writer takes before writing a news story is to
...... 9)......... its focus or main point.

1. 1) treatment

1) district

1) step

2. 1) centuries
3. 1) advanced
4. 1) widely

5. 1) cost

6. 1) mood

7.

8.

9.

1) collocate

2) broadcast
2) abilities

2) surprised
2) sharply

2) fact

2) impact

2) civilization
2) impact

2) determine

3) research

3) customers
3) distressed
3) firmly

3) value

3) aspect

3) prominence
3) result

3) mention

4) employment
4) affairs

4) interested
4) partly

4) wage

4) field

4) description
4) edition

4) reinforce
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* affairs

* attraction

* broadcast
closely
concerned with

* cultural
descriptive

* determine
diary

* district

* edition
editor
exception

* expert

* expressive
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1. Would you please turn down the radio? Because these sounds .................. the ear.
1) challenge 2) berate 3) distract 4) offend
2. Although the president knew many people, he had few ..................... friends.
1) general 2) familiar 3) intimate 4) ordinary
3. The enemy soldiers wanted to attack our borders, but all their ........................ were useless.
1) conditions 2) excuses 3) interactions 4) attempts
4. I paid back all the money I had borrowed from him because I didn't like to be in ..................... .
1) payment 2) cost 3) expense 4) debt
5. While the telescope has ..................... man's vision in space, the microscope has made him aware of small
living things.
1) extended 2) exchanged 3) explored 4) exemplified
6. A: How can you recognize good students?
B: They always make an ..................... to use the knowledge they get in school.
1) instruction 2) effort 3) experiment 4) adventure
7. Students find newspaper publishing a ..................... business and often ask to develop a classroom
newspaper.
1) developing 2) threatening 3) disappointing 4) fascinating
8. To maintain the ...........c.ccuee. and services we have built up, new energy resources must be found.
1) civilization 2) determination 3) satisfaction 4) elimination
9. These worrying climatic changes are mainly ...........ccc.cu.e.. by the greenhouse effect.
1) brought about 2) backed up 3) brought up 4) worked out
10. How do you manage to have current knowledge of political ..................... when you're so busy working?
1) equipment 2) affairs 3) furniture 4) impacts
11. All the staff must be aware that we've had lots of complaints from annoyed ..................... about our bad
services.
1) customers 2) transfers 3) comments 4) employees
12. He got fired from the company because he had caused ..................... loss and disorganization .
1) severe 2) limited 3) mutual 4) missing
13. The manager refuses to consider any possibility of ..................... . He expects his players to win the match
easily.

1) offense 2) result 3) fault 4) defeat
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14.1 am a little worried. I fear our ...........cccueuenenee. may fall down if the storm comes back.

15.

16.

17.

18.

19.

20.

1) solution 2) shelter 3) territory 4) culture

I have found all the staff extremely helpful and I'd be ..................... if you would thank them for me.

1) amazed 2) grateful 3) desirable 4) sensitive

He made loud offensive noises in the street which .................. a lot of people around him.

1) gathered 2) decreased 3) constructed 4) assumed

Human beings show symptoms of stress when their personal territory is ..........ccceeeuees .

1) defended 2) instructed 3) developed 4) invaded

So well-liked was the ..........c.cceeueeens speaker that the stadium was filled to capacity when he began his
speech.

1) prominent 2) invasive 3) frequent 4) talkative

The .cccvvvvviniinnnnnnn. of the three-hour examination almost brought Sue to a state of collapse.
1) lack 2) strain 3) skill 4) manner
We miss seeing all our old friends now that we've left the ..................... .
1) contact 2) district 3) occasion 4) appointment
315 aslawly
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Lesson) 6

=gl Reading Comprehension

.\ Reading

The History of Alphabets
The alphabet we know well is not the only one — there have been many others in the past, and there are many now.
The Persian alphabet and the Russian alphabet, for example, are very different from English.
The ancient Egyptions used a mixture of picture writing and idea writing, called hieroglyphic, but among their

pictures they included 24 signs which stood for separate letters or words. This was a kind of alphabet, though the
Egyptions did not use it very much.

About 3500 years ago, the people who lived near the eastern shore of the Mediterranean had the idea which has led
to modern alphabets. They realized that there are only a certain number of different sounds making up all the words in a
language and that the same sign can always be used for a sound. For example, the letter n is written exactly the same
whenever the n sound comes into a word, as in the words "nut" and "end". These people used a number of signs, which

stood for the sounds men made when they spoke.

Comprehension Check

1. Hieroglyphic writing ..........cccoeeeennens .
1) only had 24 signs 2) was shown by words and letters
3) was only idea writing 4) consisted of pictures and signs

2. Which statement is true?
1) There is more alphabet now than there has been before.
2) Persian and Russian alphabets are alike but are different from English.
3) The known alphabet is only one.
4) There has been many different kinds of alphabet since the beginning of the history.
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3. The Mediterraneans made an alphabet by .............cc..... .
1) looking at modern alphabet 2) using one sign for each sound
3) using a single sign for some two sounds 4) using a certain number of sounds
4. An alphabetis .........ccceeneen.. .
1) a set of fixed words representing the sounds of the language
2) a number of signs representing the sounds of the language
3) a set of sounds representing the letters of a language
4) a number of sentences representing the words of the language
=@l Vocabulary Test
1. There's only one week left until the competitions but the head coach says he hasn't found the right ...............
of players yet.
1) combination 2) presentation 3) creation 4) revision
2. John is often .................. of doing good work in class, but he seldom wants to.
1) legible 2) capable 3) reasonable 4) acceptable
3. My family ......ccceueenen. its weekend plans when heavy rain was forcast on TV.
1) disappointed 2) attempted 3) gathered 4) revised
4. Certainly a balanced diet contains a lot of fruits and vegetables, which is very .................. to our bodies.
1) beneficial 2) creative 3) undesirable 4) capable
5. These children have just started learning to write. You can't expect them to write .................. .
1) accidentally 2) temporarily 3) severely 4) legibly
6. Wemust try to ........cceeueeee. the teaching materials to attract more students.
1) diversify 2) dissatisfy 3) represent 4) convict
7. Lstill have a lot of assignments to do, but now I feel like stopping .................. .
1) beneficially 2) creatively 3) temporarily 4) accidentally
8. It was never discovered where the missing money went, in spite of a searching .................. by the bank.
1) ignorance 2) discovery 3) solution 4) inquiry
9. After my article was edited, it was .................. in a local newspaper.
1) published 2) broadcast 3) recognized 4) produced
10. His diet consists mainly of fatty food. Such a poor diet will certainly .................. to illness.
1) prove 2) react 3) disturb 4) lead
11. In many public libraries, the books are .................. according to their subjects.
1) simplified 2) diversified 3) classified 4) exemplified
12. Reports suggest that two American soldiers were killed by .................. fire from their own side.

1) accidental 2) selectable 3) artificial 4) avoidable
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13. T hope my explanations would help to

14. On the American flag, each star

understand.

1) proceed

1) looks after

2) simplify

2) calls out

..................

..................

3) reinforce

one of its fifty states.

3) brings about

157

this complex mechanism and make it easier for you to

4) represent

4) stands for

15. Eventually, they had to close down that small chemical factory because a great number of local ..................

1) districts

2) employers

Part III

had complained about the unpleasant smell coming from it.

3) customers

Cloze Test

4) residents

blind as a child, invented a new system of reading and writing for

in big raised letters and thus were difficult to use and

in...... () R it was impossible for the blind to write.

In his system, Braille used six raised dots ......(4)......... of raised letters. The letters, ...... () P marks and
numbers were represented by various ...... (6) of these six dots. This method ...... () P reading and
writing. Moreover, he invented a ...... @&).eennnnn. similar to a typewriter to write.

Many modern inventions like the radio and computer have been ...... ) to the blind; however, Braille's
system is still ...... 10)......... . It has helped the blind so that they no longer have to spend their lives in
...... (11)......... as well as darkness.

1. 1) particularly 2) currently 3) creatively 4) accidentally
2. 1) printed 2) combined 3) extended 4) reviewed

3. 1) nevertheless 2) maddition 3) moreover 4) indeed

4. 1) except 2) indeed 3) despite 4) instead

5. 1) punctuation 2) preposition 3) pronunciation 4) presentation
6. 1) recognitions 2) publications 3) combinations 4) exceptions
7. 1) exemplified 2) simplified 3) classified 4) diversified
8. 1) device 2) sign 3) effort 4) mark

9. 1) expressive 2) determined 3) ordinary 4) beneficial
10. 1) advanced 2) separate 3) useful 4) sufficient

11. 1) mixture

2) welfare

3) province

4) ignorance



158

acceptable
accidentally

* beneficial

* capable

* classify

* combination

* creation

* discovery
diversify
dot

* exemplify

* ignorance
indeed

* Inquiry

* lead to

* legible
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moreover
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pronunciation

* publication
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raised

* recognize
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* revise
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* simplify

* stand for

* temporary

typewriter

word study

Q sy

The New Bridging the Gap

e (S Lo

055 Sl ()5 unal
e

02,5 podlw

O S Cedle

Ry
wb o Kwd



S 159
The New Bridging the Gap

P9 Wy Olow awl

1o wine ()

CUIZE Y

Jlo e ol d5 290 (93L5 alass o (15381 g 42l 399 aLsIS 5 Lall (o3l ol — s (L) s bt o (255 2 )] 45 L)
A5 glate s (unddSSl b5 Ll 4 s awg) g (s (L) sl

WSl e V¥ pliole gl (g g3 bl cidp o ) ]y CadS g pm b 4y cogrde jlidgs b W JSub (0t 5l (oS 5 g sl il (b pe
03,5 s0d o3lial (] 5105 g pne 2 ST ey oo Jlod 4 Ll 55 S el idgs 085 gy il SISl By (sonima gl

Sl Lagl b e (g8l bl Gl 4 o 2l ()b id)S o (S35 Wlite 50 (5 ol 1 & (030 Gy JLs Y000 290>

L'j L'JJIJ ULM; LSIX Adaod ..\3]936@ uol'> CoMe S Afo,gl 9 Cowl ub) S5 2D 29> g0 Slels (:LJ (oL JASM.‘ quﬁ.a C;]yol )'I (RS iy Lg» &S

12 48 oMo (o3 1oLl ol g e didg g Sy 4 8> €N L NUE SlalS )3 Moo wlalS plos 13N Goys o Jlin lsis 4y 398 odlitul g

W08 o 03l Dy oo H Ay Cusrs (s p e &S 09y Slaol | (SO (gosima L plas’
(V) a5 — ¥ (V) sans =¥ (F) a5 =¥ (F) s =) g

3065y s Jlaw gl

03,55 Mg 1y f QLS sl S 33 52 45 55 oo (2 p0 po Lol sl ol Bl Laculs) £, b i S b rdlozr (fime (1) i3S -
|

JYSVPRESIIWCE T & il ¢ 3ls — ¥ Syt WLl =¥ ilaal S ple dxe

S cpla Bl ) 4 g el oS0 0gd 8 ol plosl 4 a8 el s o e (Y) Al Y

il e able to b Bolyie a5 «Ulgs 36» ixe 4, capable of #

He is capable of passing the test if he tries harder. Dy dalgd el )3 ol Jgub 4 0B S 5 5 e STl
Js Jf6— ¥ iaio— ¥ Bt —) a5l ine

3,5 Jinaad win BTl 05 (g4l )3 plodlyls s sty atin BT gl 05 Sk Sl Jan ez (g2e (E) AT -

ool TVISION (] wuol . €l )3 (13,5 y950 03,5 (655530 5 Mol 1y (3 «3,8 Sab 156 (Gu> D Jm TEVISE Jsb 3

I've been revising all week. plodgy (blocial (gly) mald yuyd (13,5 yo50 Jorsdio dtan plos
He was revising what he'd written. D Albgr 45 dgy odlae (6,555 Jordio 4l
oS =¥ O3S pldl= Y DS el =V ey S plo e

ol a5 sl Alace (] &S Gl Sl s g 0900 (3L e (gole Jolaie (i 05y o lodno 1oz i2o (1) (AT €



160 S
The New Bridging the Gap

1] 03535 o €35 g dgu? ize & DENEIt b 5 pusl b s (] Ko cdiodqu® iny beneficial (to) s

a beneficial influence on the economy slasl 5 diedgw (5l
PB—¥ wgllaol — ¥ AW =Y Al S ple bxe

Ulgs g bd (ogs o 4y o (o8l 4l )il o] 51 Sl e led 8 (12555 5650k & g9 0 laac (nl 1dlo (e (€) 4I5S D
lyss— ¥ bge— ¥ ol g =\ ey Sl e

iy £ (bjgel Clbao 4 S s 1L Sk (ligal B (3,8 Gl el b e (o (1) GART -7

2l o (5655 g 95) diversity (saelS o] mul Ko 4 iwidsn S55UeS § g6 im diversify Jb #

cultural diversity iy g5 5 (555065
DS peSoe— ¥ 008 (S sodiuled g odimd lii— Y O A=Y ibal S ple bxe

i Cawd L8] EB,o b gy (Y1 Lel ep )l oy plosl (gl ST (o3bj Jlde join ithom oo (V) iy -V

sl (o5b) permanent cas o slate € 840> ix temporary s

temporary change By s So
okt oo 4= ¥ L8 — ¥ Modg g =) dadyS e ee

ol 0ol cors dgihe b oAb o Jgz oo 2 4 45 LS plae 50 (SOl Loy OUAIST § ot sl o e oz (hime (€) S4IHT —A

o) (k) 5 G0 Y (sine 4y o 9 Sl €52 5 o () (e & o INQUITY

an inquiry into a plane crash lowtled caoiln S g0yl Clisiss
J>el, =¥ S — ¥ Sy der =) ban S plo e

ey Ol g e gaslijs) S )3 S Glalg pllie Sl s idlez (e (1) &S -9

(»b) publisher o (;Lis! s «ols) publication | as,ke ] pae (slodlgilspa €3, pisio 3,8 Clo» x publish  Jab %

His latest book has just been accepted for publication. ool 48,5 1108 Clge 3y90 Lisl gl (S3b gl QLS oy )3
oS Hg— ¥ odls =Y Wby )8 iy =Y by plo e

i Bl e (6l 4 T aasliol a3y i sl 0 LSS g sl (1 Bes ol liE ), oz e (E) SAi3E e
scause gresultin end in jlus)lke ] e slacdslio € ud el s poued w10 sablsl B L lead Jsb

His severe injuries led to his death. WA 55 e el ol LuS slacel s
sl €91 et 10355 Sy (35S Lol (e & Vgoms BLS1 > g lead b

He led us to the city center. 2)S oleinly yob e ]y Lo ol
O3 JBe (b wlie = ¥ o s sty — ¥ oS Sll= ey S ple e

O S )'I ‘_;Hi:agc\l‘w—\‘ Oy g9 — ¥ Qa)f )Jaalw— ) :Lm\;,g}f xb@xﬁ



161
The New Bridging the Gap

05 S (355 (slag s ((olendl) (BB S gt 1l 5 6 35 (0l (Sl o5 1oy e (1) 5ig3S 1Y

W bl gdas it ¢ Bli] ¢ B3l im accidental s

As I turned around, I accidentally hit him in the face. D)5 3)55 11 i yao Ay piasd (BS] i jguo 4 pidS s 4 By
ols! pe—¥ Sgaas— Y obal LB—Y  bay S gl ee

e ol e sl |y o avard 9 415 SaS onmy il ol (qwsss) 035 p05ke 4 pibeess p)lsinel idlo (o (¥) aUs)S Y
Cpybso Ko 535 Sy 5 ot BB 5 o joskr im SImplify Job

OO S sodule — ¥ O3S Cug— ¥ T S T

3 oo S 1) o bl ey Sl (S ol y 450l 02 3 o (e (€) SRS -NE

sl €l 03] ¢)3,50 Jooo» xe 4y e s )3 b ) ALl K gr (g5 S (09 (S Codle g odimd LY iw stand for fab

AIDS stands for Acquired Immune Deficiency Syndrome. ] plwiST el ol oyt OlalS Cadsie juul gdelS
Nobody can make a fool of me! I won't stand for it! Dl palgss o3l (35 ,2) Iajlacy cuwd e Llg5 cod wSzun
oMb el =Y oNlgs 1 —¥ 005 Cublye— ) a5 plo gxe

4 a2ly Joe o QU 5l ool ol 15 50 pliend S8 G819, o 4 jgme o] sl 1loz (pime (€) 4035 -10
53,8 ol el o )] 5l &S eanligdl (g

Wl G 3 a5 She 3,8 iw resident #

residential area S9Swe (sdilaie

it — Y loy)l5 — ¥ b= by ple e



162 S
The New Bridging the Gap

Cloze ods Awb

HE =T

Moo didg (bl sl ol 5| 8 &5 bl 0)S el (Ll (sl (s g (ulss s g2 048 Ll (S 5k & (Som 1> &5 i (29
395 be 4 B Ll opl g ogde g 390 lgbd bl 5l ookl g BAd o Ol 5y (htar p By Syguo 4

O jl il (Sl 5 vy baojled g 5yl35 ekl woMe cby > 23,8 odlatnl dtu p (gabal bl de g By sl 4 353 s ) i
2,8 gyl g lp ly ol gedle 4 4l (Slabusg ol ogMle @ 3)" Josku 1) (des 9 (Wl gy nl N oo 03> dla i

Ol & el sl 03l ol (gl o0 5 o2 i 3929 cal b cdilogy Modgus (bl (gl WL, 5 23], Alo (o0b5 s el s
Wy o & o o 53 (2lnb) (S 2 0gMe WBLS Hpome 1503 & Cunl 03,5 S8

ol

(f) gauys — ¥ (V) gaups =¥ (V) gz —Y (¥) gans — )
(V) gaus —A (V) gaups -V (V) gauys —# (V) gans—0

(F) gaus =) (¥) gaus = Ve () gauys -2



Lesson?)) /7
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.\ Reading

What Your Feet are Telling You

Lynn Pierce has a real pain in her foot. Actually, she has several and each tells a story. One is in her heel and may be
related to walking. Another is in the ball of her foot and may have been aggravated by years of playing racquetball. The
46-year-old Lynn is far from alone in having to cope with foot pain. Most people have some sort of foot problem. The
average person walks or runs about 70,000 miles during a lifetime, much of that on hard surface, in ill-fitting shoes and
sometimes accompanied by the burden of excess weight.

When we do have problems, just getting off our feet won’t necessarily lead to permanent relief. For one thing foot
pain does not always begin in the foot. Even though you are feeling the pain there, a tight Achilles’ tendon or calf
muscle may be the actual source of your problem. Either may restrict ankle motion causing you to put painful stress on

the front of foot. Rest may help, but what’s often needed is a change in the way you care for your feet.

H Comprehension Check

1. Which sentence is true?

1) Lynn pierce has only one real pain in her foot.
2) Getting off our feet will lead to permanent relief of pain.
3) A tight Achilles tendon may cause feeling pain in the foot.

4) It's impossible to find the real cause of foot pain.
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2. The verb "aggravate'' in line 2 is closest in meaning to ............... .
1) make worse 2) feel better 3) cope with 4) rely on
3. Accorcing to the passage the best solution to foot pain is ............... .
1) just getting off our feet 2) enough rest
3) restricting its motion 4) changing to way of foot care
=@l Vocabulary Test
1. Population growth has affected most of the countries in the world. That's why governments try to ...............
it.
1) calculate 2) accompany 3) aggravate 4) restrict
2. He shouldn't have .................. his sore, injured elbow by trying to play tennis.
1) aggravated 2) operated 3) reinforced 4) attempted
3. The dog's main duties will be to .................. the police officers on long nocturnal walks.
1) accompany 2) connect 3) belong 4) threaten
4. All our efforts to open the door were useless; it was .................. shut.
1) closely 2) tightly 3) partly 4) sharply
5. It is now proved that pollution caused by industrial chemicals can injure a person's health .................. .
1) basically 2) economically 3) permanently 4) efficiently
6. There was a big traffic jam on the highway when a truck broke down in the middle .................. .
1) burden 2) lane 3) motion 4) vehicle
7. According to our agreement, the financial .................. of this project must be evenly shared between all
members.
1) solution 2) burden 3) development 4) economy
8. Calm down, Jack! Anger is not .................. the most useful or acceptable reaction to such events.
1) originally 2) actively 3) necessarily 4) accidentally
9. The swaying .......cc.eeeuuees of the ship in that rough sea made most of passengers feel sick.

1) motion 2) lane 3) removal 4) source
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* accompany

* aggravate
ankle

* burden

* calculate
calf

* cope with

* eXCess
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Ahmad’s Bicycle

Ahmad’s bicycle has a flat tire. He cannot ride it. He has to repair a puncture. He does not need to pay the man at the
bicycle shop to mend it. He can repair it himself. He has taken out the inner tube. He has tested it and he has found the
puncture. The test is easy. You get a bucket of water. You blow up the inner tube with a bicycle pump and put the tube
into the water, bit by bit. You move the tube round till you see a stream of air bubbles coming up through the water.
You mark the place where the air is coming out with a special pencil. Ahmad has one of these pencils. His father has
given him a repair outfit. The pencil is in the outfit. He has marked the place where the puncture is. When the inner tube
is dry he is going to stick a rubber patch on the puncture. He is going to stick it on with rubber solution. There are some
patches and a tube of rubber solution in the repair outfit. When Ahmad has repaired his bicycle, he is going to ride it

again.

H Comprehension Check

1. Which sentence is true according to the passage?

1) Ahmad is going to learn how to repair his bike.
2) Ahmad doesn't know how to mark the place of puncture.
3) Ahmad is going to stick the patch with rubber solution.

4) Ahmad's father has a bicycle shop and repairs bikes.
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2. The verb '""mend" in line 2 means:

1) ride 2) repair 3) pay 4) blow
3. The repair outfit given to Ahmad doesn't contain ............... .
1) a tire 2) rubber solution 3) a pencil 4) some patches

=@l Vocabulary Test

1. I missed the first lecture today because my alarm clock didn't .................. this morning.
1) go off 2) lay off 3) take off 4) get off
2. The coach himself .................. several of the players' soccer balls that were too soft.
1) extended 2) floated 3) inflated 4) splashed
3. The baby fell asleep while it was .................. milk from its bottle.
1) sucking 2) filling 3) growing 4) searching
4. I hope you won't be offended if I ask you to .................. your cigarette; I have asthma.
1) die out 2) put out 3) get out 4) give out
5.1 had to push my bike home from school today asithad a .................. in the front wheel.
1) upset 2) failure 3) motion 4) puncture
6. Don't throw your coat on the floor. Please .................. it up on the wall.
1) hang 2) make 3) grow 4) bring
7. An unkown disease reduced the farmer's herd of .................. from 90 to 65 cows.
1) cattle 2) bucket 3) flock 4) colony
8. Sales were down so they had to .................. some of their experienced staff.
1) work out 2) lay off 3) get rid 4) bring about
9. In order to prevent any other strikes, the management tried to .................. relations with the unions.
1) flow 2) mend 3) mark 4) involve
10. This car tire isn't something you can .................. with a foot pump, you need compressed air.
1) stand for 2) blow up 3) switch on 4) put out
11. When we reached there, we saw a huge crater which .................. the spot where that terrible explosion had
happened.

1) marked 2) discovered 3) threatened 4) extended
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Going to the Moon

The most exciting thing astronauts have done so far is to travel to the moon. They went in Apollo spacecraft, three
men at a time. Each Apollo spacecraft was made of three parts. The first part, the command module, carried the crew.
The second, the service module, carried equipment and a rocket motor. The third, the lunar module, carried the
astronauts down to the moon’s surface. The spacecraft was launched by the mighty Saturn V Rocket, the tallest rocket
there has ever been. The journey to the Moon took about three days. The first astronauts landed on the Moon on July
20™, 1969. They were Neil Armstrong and Edwin Aldrin from Apollo 11. Armstrong was the first person to set foot on
the Moon. As he stepped on to the Moon he said that he was taking a small step but it was a great leap forward for
mankind.

Altogether, twelve astronauts from six Apollo spacecraft have landed on the Moon. They collected rocks, took
photographs, and carried out experiments. The astronauts also set up scientific stations, which radioed back their results

to Earth. The stations carried on working long after the astronauts had returned to Earth.

H Comprehension Check

1. The equipment was carried in the ................. module of Apollo.
1) spacecraft 2) lunar 3) service 4) motor
2. The word "'mighty"" in line 4 is a synonym of ................ .

1) scientific 2) giant 3) experimental 4) ancient



174

The New Bridging the Gap
3. Which sentence is true according to the passage?
1) The third part of Apollo carried the crew.
2) The first person who launched the Apollo to the moon was Armstrong.
3) Altogether twelve Apollo spacecraft have landed on the moon.
4) Space stations can continue their job even without astronauts.
=@l Vocabulary Test
1. You have to .................. good relations with local residents if you need their support.
1) establish 2) command 3) equip 4) conclude
2. When the police arrived, the thief .................. from a small window in the building and escaped.
1) placed 2) leaped 3) carried 4) joined
3. The bicycle hit me justas|I.................. into the crosswalk to cross the street.
1) stepped 2) faced 3) landed 4) existed
4. The business associates decided to .................. their discussion in the hotel instead of the conference center.
1) get rid of 2) put out 3) stand for 4) carry on
5.The .cccovvvuenrnnnnn. home was awful and tiring. The roads were so busy that I had to concentrate all the time.
1) journey 2) welfare 3) discomfort 4) interval
6. The soldiers were threatened to be shot if they refused to obey the .................. .
1) defeats 2) commands 3) attacks 4) efforts
7. Our manager ..........cceeees a committee to look into the causes of production errors in the factory.
1) brought up 2) set up 3) looked up 4) hung up
8. After their vehicle was hit by an enemy rocket, the soldiers had to carry all their .................. on their backs
for miles.
1) equipment 2) commands 3) travel 4) battles
9. The plane crashed shortly after take-off and everyone on board, including the pilot and his .................. ,
was killed.
1) flights 2) furniture 3) journies 4) crew
10. According to legends, he was a .................. man and could easily lift heavy objects such as trees.

1) personal 2) primary 3) critical 4) mighty
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Allergies

You may not think allergies are serious until you become a sufferer. Use this information to understand your allergy
and keep symptoms in check. What causes allergies? Allergies result from a reaction to an “allergen” — a substance that
causes the human immune system to respond in an unusual way to a foreign object in the body. Frequently found
allergens include pollen, mold, dust, food and chemicals.

What are the signs? The most common signs and symptoms are sneezing, a runny stopped-up nose, watery eyes, ear
fullness and popping, and a burning palate and throat. Asthma is sometimes a complication.

What can I do if I suspect I have allergies? Check with your doctor, who will take a detailed history of your
symptoms, general health, diet and living conditions at home and work as well as administer tests to provide a
diagnosis. How can allergies be treated? Your doctor can help with medical treatment, but often the most effective

treatment is the removal of the allergen from your environment.

H Comprehension Check

1. According to the passage, the best cure for Allergiesis ........ccccceeueneee. .
1) medical treatment 2) allergen removal 3) balanced diet 4) seeing a doctor
2. Which of the followings in not a common symptom of allergies?

1) watery eyes 2) ear fullness 3) sneezing 4) fever
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3. Which of these sentences is true?

1) Everybody admits that allergies are quite serious.
2) Allergens cause body's immune system to respond in a usual way.
3) Medication is often useless for treating allergies.

4) Some foods can cause allergic reactions.

=@l Vocabulary Test

1. I've written three letters to the firm about their low-quality products, but they've made no ..................
1) identity 2) response 3) relief 4) supply
2. I'm not sure, but I .................. that he was the boy who stole my bike.
1) admit 2) identify 3) suspect 4) administer
3. The police are now trying to .................. the body found in the lake.
1) administer 2) represent 3) determine 4) identify
4.1 didn't really enjoy the vacation because I spent most of the time .................. and blowing my nose due to a

common cold.

1) sneezing 2) removing 3) reacting 4) muffling
5. Since I've got married, I no longer go swimming as .................. as I used to.
1) temporarily 2) frequently 3) eventually 4) particularly
6. After a thorough examination which included several blood tests, the doctor was able to make a ............... .
1) symptom 2) complication 3) identity 4) diagnosis
7. 1 got a fish bone stuck in my .................. and had to be taken to hospital.
1) throat 2) spine 3) ankle 4) joint
8. We need as much .................. information about the case as possible before we can make the final decision.
1) affected 2) complicated 3) detailed 4) restricted
9. Nowadays attemps to hold global warning in .................. are being made by many countries.
1) purpose 2) order 3) flaw 4) check
10. The new management is still dealing with the problems .................. from the errors made in the past.
1) resulting 2) leading 3) causing 4) relating
11. A further unexpected .................. in the project was a two-week delay in receiving the raw materials.
1) complication 2) suspicion 3) identification 4) administration
12. When the patient regained his consciousness after the operation, his doctor ............... him pain-killing

drugs to lessen his headache.

1) administered 2) diagnosed 3) stabilized 4) aggravated
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1. The average woman in Britain is usually restricted in a lower-paid job and she doesn't have the same

.................. as men

1) products 2) tensions 3) transfers 4) benefits
2. John wanted to carry the huge box by himself, but he found it too much of a .................. .

1) burden 2) subject 3) defeat 4) motion
3. His dog is so well-trained that it responds to every .................. he gives it.

1) effort 2) command 3) territory 4) process

4. A: I'm better at figures than you are. Let me add the bill up.

B: I'm quite ......ccceuneneen. of doing it myself, thank you.
1) complicated 2) conscious 3) capable 4) critical
5. The man's ........ccceveeeee. was being kept secret while he was helping the police with information about the

serial murders.

1) identity 2) discovery 3) territory 4) variety
6. The man standing in line told me that the .................. of the bus service was one every ten minutes.
1) frequency 2) variety 3) accuracy 4) diversity
7. This society was ......cceevveeenee in 1970 and the membership has been growing ever since.
1) brought about 2) carried out 3) set up 4) turned on
8. I spent the whole weekend .................. for my final exam. I didn't go out even once.
1) revising 2) marking 3) referring 4) including
9. When the rain started, I had to cover the roof with a plastic sheet as a .................. measure until we got it
completely fixed.
1) popular 2) temporary 3) severe 4) economical
10. All the things necessary to .................. your flat tire can be found in this repair outfit.
1) mend 2) fence 3) save 4) beat
11. To protect the environment, trees in our forests shouldn't be cut down without proper .................. .
1) extension 2) civilization 3) pollution 4) supervision
12. Because of the falling profits, the company has been forced to .................. staff. At least fifty will have to
go.

1) care for 2) lay off 3) get out 4) build up
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13.

14.

15.

16.

17.

18.

19.

20.
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I'm sorry, I must ask you to leave. Thisis a .................. area — you need a pass to enter.

1) restricted 2) complicated 3) determined 4) fascinated

I was prescribed this medicine to help clear up the rash on my arm, but it only .................. the condition.
The rash became redder and now it's spread to my neck.
1) administered 2) aggravated

3) criticized 4) diagnosed

Would you please .................. the light for me? I'm trying to sleep.
1) put out 2) switch on 3) take off 4) top up
The book has already been selling well for five years. Now the .................. are going to bring out a new

edition with illustrations.

1) employees 2) adventures 3) inquiries 4) publishers

After years of exposure to the sun and rain, the sign over the shop had become completely .................. .

1) descriptive 2) illegible 3) permanent 4) exhausted

The emergency services thought that the bomb might .................. at any moment.
1) set up 2) bring in 3) back away 4) go off
The new trains are much faster. They are going to cut an hour off the .................. time.
1) failure 2) district 3) journey 4) action

He entered the United States in 1994 as a(n) .......ccceeeeeee resident because of his marriage to a U.S. citizen.
1) intimate 2) provincial

3) effective 4) permanent

saalS asliduly

1234 1234 1234 1234
1 OOl 6 OO0 oo 16 LI =
2 OO0 7 OOmd 120mE00 170MECOO
3 &0 8§ mOO 13EO00 18 LI m
4 O0OmO 9 mEif 14 0mEC0 190ml
5 OO 10E=O000 1I5sEO0O0 20 1000 =



Lesson3 1

=gl Reading Comprehension

.\ Reading

Why Does the Sky Look Blue?

What color is the sky? On a sunny day, the sky looks blue. Sometimes, early in the morning and just before sunset, it
looks a greenish-yellow, or even an orange-red. The sky actually has no color at all. It is a great ocean of air called the
atmosphere, which is made up of colorless gasses. The sky looks colored to us because of what happens to sunlight
which passes through it.

All kinds of particles such as dust, smoke and ash float in the air. Many of these particles come from human
activities such as burning fuels to provide energy. Other particles are the result of natural happenings. Sometimes,
strong winds whip up particles of sand. When volcanoes erupt, they send clouds of smoke and ash into the air.

When light strikes the tiny particles that are found in the air and water, the light is scattered in all directions. When
the sun is high in the sky, its light is scattered by the particles in the atmosphere. The light photons with the highest
energy — violet and blue — are scattered more readily than those with a lower energy — red and orange. It is this scattered

color which makes the sky appear to be blue.

H Comprehension Check

1. The sky looks colored because of ................. .

1) the atmosphere 2) colorful gasses 3) scattering light 4) burning fuels

2. Which sentence is not true?

1) The sky is actually colorless.
2) Only the particles which are the result of natural happenings can float in the air.
3) The more energy the light photons have, the more readily they scatter.

4) Red photons have lower energy than that of violet ones.
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3. The verb "scatter' in this passage is a synonym of ................ .
1) strike 2) restrict 3) command 4) spread

=@l Vocabulary Test

1. A: The flower I planted two days ago is now dead.

B: I'd told you that it wouldn't grow in the .................. of a tree.
1) desert 2) eclipse 3) branch 4) shadow
2. In contrast to my brother who is very sociable, I can't.................. make friends at all.
1) partly 2) readily 3) sharply 4) slightly
K || areas, cold nights are very important to the survival of plants and animals.
1) residential 2) island 3) nocturnal 4) desert
4. When my brother switched on the fan, all my papers .................. everywhere.
1) scattered 2) erupted 3) struck 4) launched
5. The light was 0 ....c.ccoeeueenen. that I couldn't make out who was delivering the lecture.
1) dim 2) rough 3) rare 4) tight
6. Everyone was asleep when I returned home so I had to .................. to my room without making a noise.
1) creep 2) gather 3) remain 4) relate
7. The tree caught fire and fell to the ground after lightning .................. it.
1) bent 2) erupted 3) struck 4) offended
8. Ifthe ....cccovvvuenenn. are extremely small, they require a more powerful microscope in order to be seen.
1) particles 2) endeavours 3) proportions 4) characters
9. There are various treatments for this complaint - surgery is just one .................. , but it all depends on the

individual patient.

1) complication 2) option 3) combination 4) exception

10. When a volcano .................. , it throws out a lot of hot, melted rock, called lava, as well as ash and steam.
1) erupts 2) disperses 3) extends 4) strikes

11. Eventually the police were forced to .................. the crowd with tear gas since they'd begun destroying
cars.

1) command 2) defeat 3) disperse 4) suspect
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Graduating with Honor

I met Eileen my brother John's wife, when I was seven. The first time she came for dinner, I loved her immediately.
This was back in the days of formal meals. Eileen dropped two peas in her lap. She thought nobody saw. After dinner I
told her, "I saw the peas but I won't tell." Thirty one years have passed, and this is the first time I've said anything.

It's okay — she said I could. We were talking on the phone, right around her 50" birthday. She was describing what
50 felt like. For my sisters and me, the natural order of things was High School, College. But Eileen worked while John
went through medical school. She went to college afterward but dropped out her junior year. By then she had had
babies, and she chose to be a full-time mother. You never saw a happier mom.

Then just a few years ago, Eileen started talking about going back to college. So she signed up for two courses at the
college she had left 18 years before. She got books, tests and assignments. She thought, "There is no way I can do this."

Last spring she graduated. She said that she hadn't been this happy since she was 19. The happiness, she explained,
was only incidentally about a college degree. She told me about her sons, Joe and John, cooking dinner while she was
off at class. About her daughter, Alyson, cleaning the house so mom could study. About her husband, John, tutoring her
in chemistry.

Because of her family, not despite it, she made it. And this circle of give and take has made 50 the greatest age to be.
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H Comprehension Check
1. What did Eileen do after high school?
1) She went to college. 2) She started medical school.
3) She had babies. 4) She started working.
2. Eileen described being 50 as the happiest age because .................. .
1) she started college by then. 2) she chose to be a full-time mother.
3) she continued her college studies. 4) she finally graduated.
3. Which sentence is not true?
1) Eileen went to college immediately after she got married.
2) John gave credit for his wife’s studies at a college.
3) Eileen was able to continue her studies because her family approved of it.
4) Eileen was really happy about being a full-time mother.
=il Vocabulary Test
1. John began to practice medicine as soon as he .................. from medical university.
1) classified 2) dropped out 3) graduated 4) signed up
2. We all completely .................. of the way the celebrations had been organized.
1) approved 2) satisfied 3) recommended 4) estimated
3. With her outstanding grades in her studies and wonderful ability in sports, she was a .................. for her
school.
1) degree 2) sign 3) limit 4) credit
4. It was absolutely an unbelievable .................. for the young artist to have one of his paintings hanging in the
National Museum.
1) field 2) effort 3) degree 4) honor
5. When we asked them to join us for voluntary work over the weekend, they accepted it with the greatest
interest and .................. .
1) creation 2) discomfort 3) certificate 4) willingness

6. About ninety percent of our students graduate from university with degrees. Unfortunately, the remaining ten

percent .......oceeueenens after their first year.
1) drop out 2) sign up 3) run out 4) set up
7. When you .....ccocevuennens for something, you arrange to do a particular course of study by adding your name

to the list of people doing it.
1) sign up 2) stand for 3) back up 4) look for
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8. Judging from your school report, all your teachers are well

..................
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with your progress.

1) formal 2) willing 3) satisfied 4) accurate
9. She had been too ill to attend school so he studied at home with a private .................. .
1) graduation 2) tutor 3) degree 4) lecture

10. This built-in safety device is designed to

1) disperse

afterward
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assignment
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* compensate
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History of Earthquake Study

Questions regarding the nature of earthquakes have occupied the minds of people living in earthquake-prone areas
since ancient times. Some of the ancient Greek philosophers attributed quakes to underground winds, whereas others
blamed them on fires in the depth of the earth. Around A.D. 130 the Chinese scholar Ghang Heng, reasoning that waves
must ripple through the earth from the source of an earthquake, constructed an elaborate bronze vessel to record the
passage of such waves. Eight balls were delicately balanced in the mouth of eight dragons placed around the
circumference of the vessel; a passing earthquake wave would cause one or more of the balls to drop.

Earthquake waves were observed in this and other ways for centuries, but more scientific theories about the causes
of quakes were not proposed until modern times. One such concept was advanced in 1850 by the Irish engineer Robert
Mallet. Perhaps drawing on his knowledge of the strength and behavior of construction materials subjected to strain,
Mallet proposed that earthquakes occurred "either by sudden bending and constraint of elastic materials forming a
portion of the earth's crust or by their giving way and becoming fractured."

Later, in 1870s the English geologist John Milne devised a forerunner of today's earthquake-recording device, or
seismograph. A simple pendulum and needle suspended above a smoked-glass plate, it was the first instrument to allow
discrimination of primary and secondary earthquake waves. The modern seismograph was invented in the early 20"
century by the Russian seismologist Prince Boris Golitzyn. His device, using a magnetic pendulum suspended between

the poles of an electromagnet, ushered in the modern era of earthquake research.
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H Comprehension Check
1. Ancient Greek philosophers attributed quakes to .................. .
1) the waves which rippled through the earth 2) winds and fires in the depth of the earth
3) the sudden bending of the elastic materials 4) the fracturing of the crust
2. Robert Mallet studied .................. .
1) the fires in the depth of the earth 2) the earth's crust and its fractures

3) the strength and behavior of construction materials 4) on the first instrument for recording earthquake waves
3. The first modern earthquake device .................. .

1) was designed and produced in China

2) consisted of asimple pendulum and needle

3) was able to discriminate primary and secondary waves

4) had a magnetic pendulum
4. This passage is trying to explain .................. .

1) the earthquake recording devices

2) the origin of earthquakes

3) recent scientific theories about the causes of earthquake

4) how earthquake studies have developed during the human history

=@l Vocabulary Test

1. They .cccvvvnrnnnnnn. a new plan to reduce air pollution in the city but it wasn't successful.
1) attributed 2) devised 3) equipped 4) compensated

2. Many local publishers .................. their newspapers directly to the homes in their area.
1) distribute 2) revise 3) produce 4) edit

3. As a general rule, the closer a region is to the .................. , the warmer its climate will be.
1) diameter 2) feature 3) equator 4) hemisphere

4. If you cannot make a(n) ........c.ceuuees between these colors, perhaps you'd better see an eye-doctor.
1) distinction 2) concept 3) distortion 4) constraint

5. Your failure can be .................. to the fact that you didn't do any work.
1) emerged 2) proposed 3) distressed 4) attributed

6. There is strong evidence to prove that there are many harmful .................. of smoking cigarettes.
1) consequences 2) portions 3) sequences 4) descriptions

7. 1t is difficult for many people to accept the .................. that all individuals should have equal rights.

1) solution 2) effort 3) appraisal 4) concept
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8. This picture has been badly .................. . It should be nearer the light and lower.
1) hung 2) dropped 3) drawn 4) tied
9. To discuss all the matters further, I .................. that we have a meeting tomorrow.
1) predict 2) propose 3) provide 4) prepare
10. Cindy was determined to find the .................. of the stories circulating about her in the office.
1) origin 2) possibility 3) instance 4) conclusion
11. My stomach is starting to .................. . I ought to get more exercise.
1) lift 2) bulge 3) stick 4) ripple
12. A(D) cevenenninnnnene. object has got the ability to return to its original size after being stretched.
1) elaborate 2) delicate 3) elastic 4) distorted
13. The agreement .................. a new period of peace and friendship for the two countries.
1) ushered in 2) dropped out 3) backed away 4) brought up
14. I'd rather take the next bus because all the seats on this one are .................. .
1) included 2) occupied 3) involved 4) equipped
15. People with fair skin who sunburn easily are very .................. to develop skin cancer.
1) advanced 2) prone 3) real 4) slight
16. Water shortage in this desert area will be the main .................. on its development.
1) portion 2) action 3) dimension 4) constraint
17. It is possible to remove .................. solid particles floating in the water through certain procedures.
1) occupied 2) suspended 3) restricted 4) dissolved
18. Tom suffered several major .................. when he fell off the ladder onto the floor.
1) symptoms 2) instances 3) treatments 4) fractures
19. Using ...cccevveneennens instruments, the astronomers were able to determine the exact temperature of three

20.

21.

22,

23.

24,

areas of the sun's surface.

1) spherical 2) temporary 3) elaborate 4) restricted

The girl was .................. for the accident because she was driving too fast.

1) blamed 2) admitted 3) offended 4) exposed

His grandfather devised a machine which, in some respects, was the .................. of modern helicopter.

1) device 2) forerunner 3) proposal 4) equipment

Look, this is a rather .................. matter. Tom can't afford to go on the trip and I like to offer to pay for

him, but I'm worried that he might be offended.

1) delicate 2) original 3) previous 4) primary
Unfortunately, our boss is incapable of .................. between a good idea and a terrible one.
1) distributing 2) discriminating 3) distorting 4) disapproving
You must be aware that traveling alone in that area could .................. you to many dangers.

1) subject 2) occupy 3) suspect 4) offend
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25. Careful with that open tin. It's got a very sharp .................. .
1) origin 2) particle 3) edge 4) concept
26. All the bridges on the river threatened to .................. as the flood waters rose.
1) draw on 2) fill in 3) top up 4) give way
27. What John said was a clear .................. of the truth because he wanted to place the blame on his brother.
1) distortion 2) discrimination 3) distinction 4) distribution
28. Actually your body .................. its reserves of fat during the times when you are fasting.
1) brings about 2) carries out 3) draws on 4) sets up
29. There is a spiritual .................. in his latest song which distinguishes it from his other works.
1) circumference 2) territory 3) welfare 4) dimension
30. He devoted a fairly considerable .................. of his life to helping the disabled children.
1) pressure 2) option 3) particle 4) portion
31. Due to long-range missiles and atomic bombs, no place on earth is truly .................. .

1) secure 2) prone 3) equal 4) invasive
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* circumference

* concept

* consequence
constraint
construct

* continent

* delicately
device

* devise

+ diameter

+ dimension
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+ distribute
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* edge
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forerunner

fracture
give way
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needle
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* origin

* originally
passage
philosopher
pendulum
prince
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* previous

* prone

* propose
regarding
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* scholar
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sphere
subject to
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Computers

A computer is a machine that is able to handle information very quickly. Computers use numbers to solve
problems. Hundreds of problems can be solved in just a few seconds. The information that is needed to solve a problem
is translated into numbers by the computer. The computer solves the problem and then the answer is translated into
words.

Special machines are used to put information and instruction into the computer. The computer records the
information and stores it. A large amount of information can be stored in a very small space. This information is stored
in the computer's memory unit. This unit holds the information. The arithmetic unit uses the information to solve
problems. The memory unit and the arithmetic unit contain most of the electronic parts that make the computer work.

Computers are used in many different ways. Businesses and banks use computers to keep financial records. In many
industries computers are used to control other machines that make products. Governments, hospitals, schools and
communication companies work with computers. Special computers have been developed for rockets, airplanes, ships
and automobiles. Some people have small computer systems in their homes. Because computers have so many uses, the

computer industry has become one of the largest industries in the world.
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H Comprehension Check
1. The verb "translate' in first paragraph means .................. .
1) change 2) solve 3) hold 4) save
2. In a computer, solving problems is usually performed in ................ .
1) a special machine 2) just a few minutes 3) arithmetic unit 4) a large amount of space
3. Which sentence is not true?
1) Information is stored in memory unit.
2) Computers can be used to control machines.
3) Computers translate problems into words.
4) Usefulness of computers cannot be denied in modern world.
=@l Vocabulary Test
1. The goods hadn't been well .................. , and consequently were badly damaged when we received them.
1) packed 2) replaced 3) fractured 4) devised
2. According to this contract, your house .................. covers you against fire, flood, theft and damage.
1) replacement 2) constraint 3) destruction 4) insurance
3. This year I've decided to .................. all my Christmas cards by hand in order to save money.
1) load 2) deliver 3) handle 4) replace
4. Some natural resources, like trees, can be .................. ; they will never run out if we keep planting new ones.
1) replaced 2) loaded 3) provided 4) gathered
5. The ..cceuvrenennnnn. of the truck was inspected by the police before it could cross into the neighboring country.
1) unit 2) expense 3) order 4) load
6. He also developed '"carrak'', which was a slower ship, but one that was capable of carrying more ............... .
1) cargo 2) discovery 3) value 4) industry
7. Your high-quality products satisfied me. I'll be one of your .................. customers.
1) defensive 2) equal 3) expressive 4) loyal
8. As the foreign businessman spoke, John .................. for the audience, trying not to miss a word.
1) revised 2) translated 3) discussed 4) expressed
9. If you plan to go to a private college, you'll probably have to apply for .................. aid.

1) intimate 2) previous 3) financial 4) ordinary
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How to Sleep Better Tonight

"Sleep well?" For many, the answer is no — even for those of us who think our slumber is good. It's very common
for people not to have any awareness that something is wrong at night. They don’t feel refreshed during the day, and
wonder why.

Your habits — both what you do and what you think — can cause many chronic sleep problems. Here are some
unexpected factors that can ruin your rest and some ways to sleep better tonight:

Establish a sleep schedule. Your body's internal timekeepers want predictability. Getting up at the same time every
day, including weekends, is probably the most important step toward establishing good sleep patterns, because regular
exposure to light in the morning is what sets the brain's alarm clock.

Skip caffeine even in mid-afternoon. The caffeine consumed from three cups of coffee still has stimulating effects
up to eight hours later. Some people are more sensitive to caffeine than others. Remember, too, that other caffeinated

substances — chocolate, cola and tea — can cause poor quality rest.

H Comprehension Check

1. Which of the followings was not mentioned in the text as a solution to bad sleep?

1) establishing a sleep schedule 2) skipping too much caffeine
3) getting up at the same time every day 4) having no exposure to light in the morning
2. The verb "establish'' in the third paragraph means .................. .

1) refresh 2) set 3) ruin 4) drop
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3. Which sentence is not true according to the passage?

1) Some people who think their slumber is good may not sleep well.
2) Our body should get used to a predictable sleep time except weekends.
3) Chronic sleep problems are a result of bad habits.

4) Stimulating effects of cola is for its caffeine.

=@l Vocabulary Test

1. The scientist became .................. when he observed the disappointing result of the experiment in the
laboratory.
1) determined 2) stimulated 3) discouraged 4) satisfied

2. ""Where did they find these artistic tablets?"

"They were found in the .................. of an ancient town."
1) ruins 2) patterns 3) substances 4) deserts
3. On hot summer days, more liquid should be .................. to keep the chemicals of blood balanced.
1) dissolved 2) condensed 3) distributed 4) consumed
4. As a matter of fact, the decision to sell the failing business was rather .................. .
1) predictable 2) satisfied 3) original 4) continuous
5. Maybe those dark spots on the patient's face is the result of .................. exposure to sunlight.
1) sensitive 2) internal 3) chronic 4) refreshing

6. The injured man was immediately taken to the operation room because doctors suspected that he had massive

.................. bleeding.
1) medical 2) beneficial 3) natural 4) internal
7. Do you think our supplies will .................. until the rescue team arrives?
1) matter 2) save 3) last 4) form
8. As I didn't have enough time to revise the whole book I decided to .................. the lessons of less
importance.
1) skip 2) ruin 3) fail 4) tutor
9. This information pack is designed to increase children's .................. of things they can see in the country-
side.
1) culture 2) awareness 3) prominence 4) equipment
10. Experts believe that such teaching methods provide a useful means of .................. students' interest.
1) consuming 2) restricting 3) distributing 4) stimulating
11. After a good night's sleep, the .................. travelers were ready to explore the city.

1) desirable 2) refreshed 3) extensive 4) ordinary



214

* alert
awareness
caffeine
chronic

* consume

* discourage

* energetic

* exposure
internal

* Jast(v)
mid
pattern

predictability

(0988 ;3 35250 S o (s03Lo) (yuidlS
o (SYsb (e

O3S Span

005 el g 5>

SiPln

OB I8 (5 2 yre

&9

oS Jsbo

Ol g

S

U Cubl

* quality

refreshed
ruin
schedule

* sensitive
set
skip
slumber

* solution
stimulate
unexpected

wonder

word study

39!

The New Bridging the Gap

Jb

O3 S

Sloj sl

ool

) e

03 i ye ()8 Sl
<l

o)l e J>oly

OO B9 «(2)S S8
o laiha pé

O 393 5l 3,8 conss



S 215
The New Bridging the Gap

PA WS S low awb

1 e ()

el P udel digSe

sl dy AlsS o g AS 0 S8 lidgs & LS 350 )3 (> — el e Jlges el sl 131 51 (63l 390 53 €Cals o s Lo LD
Hy 83l Jb s gy Job 1 el a0 bl )5 I 28T og gn 25l d52 5 S il 53 o &S ol 4y G 230 5] ()l
oz ) e &S w5l

(35 bl 53 s (aalsS )3 aje ML I (6l g0 el Al o — S 0 S8 48 yobo] izmed 5 A3 o0 pll dp ] — lad bile
gdie wll lod (inled o Sly gy M iz ed 9 g on Led Caltal (13,5 O3 el o ojlate pd Jalge |

Slss S Gy g pasete il > daatin ST (2> oy ym )b et €508 Sl b 9> Cel bl i Clgs sl Slej sasby S
S05) Sl ol o cul (S o 3 dadysd 595 b phaie (srlye g sl (g cnbio 65801 6 3bul (sl 28 (e Ylezsl (45 e
S (o welaid ) oo (o

A oy 8l e ) Sy (5] dn sl Cuiin U oghd (ybxid dw )0 0l Buan 8 .08 (g)logs b bawlgl > s 28K B puas
oS el s ecel wlg e sl g aligr (MK Jto o adli] Bl ol 4 48 (o3l auily ALl Bl 4 s (,505 3l 5 wlaes 8l

Hgd Gloslgs
(V) gans =¥ (V) gans =¥ () gans =) g

10631y s Jlaw gl

A 3 pdd g ol 8 oamliie oSty lojl 3 1) 395 islojl (gouiiS aalll ol 8y dieily o tloz 2o (V) sQU 35 -\

weh—¥ 5SSy 0l Sy — ¥ posao— Va5 plo ee
€5 My bl 6,4 sladilyd 3 laasg) ub €C15,8 by S 1) (opim sladsg) ol o oz 2o (1) i) ¥

Wladsl AP ay on TUINS sl 40,8 QLAY i TUIN Jab 3

The rain ruined our holiday. 5y Ol 1y b eMass oL

ot =Y olo— ¥ SI—Y  tlaan S plo e



216 S
The New Bridging the Gap

lay Jolete (155 )3 39290 (e Slgo b Wgud B pucre 1l (55 ke Slule il p5 slaj) o o 2o (£) sAinyS Y

1l (B yune) CONSUMPLION (caalS ()] puol Ko g C g ¢ Subgs i )5 B puned i CONSUME 3

The country consumes much more than it produces. ool e LS ol g ade 3l 9S8l G pne e
food / fuel consumption g [ 136 G puno
oS i — Y ol ple clls & (35 5)— ¥ DS =Y bauS ple dxe

S bt B s (ool b Jlo 33 0555 0l b omsd Bl 3 idlor (i (1) SinS -8

polde cdiwgn — ¥ adol ¢ Lol =¥ =Y bas S ple bxe

Ao sl 40y55 595 b (D30 (SYgb) (oo yolos 4 53 slow 9o (S5 035 s Yoo 1bor e (V) a5 -0
Ko SYob (peje» (ix Chronic s #

He suffers from chronic depression. ol Mo yo0 (S5 yuidl 4y 4l
ol Jbyo— ¥ Ssbh—vy e =Y Ay plo dxe

5l s GBI (o5 gs sl a5 Wal e Jloinl b iS5 &Sl (el 1 03 oo 351 & by zoyome pe o oz i (E) GAis3S -F
(€odas « 5P im MASSIVE Cuis)

culexternal ;f slaze .« S5 ( Sg, im internal #

PR Kdg i ¥ S Sl s

5,91 WBlgh wl5d o o5 (s e b (latlid) 29250 5 053 (S o S6 1oz ia  (¥) AT -V

1€ yle e ydy9 plod yauisS Jobo» m last Jub %

Our holiday lasted ten days. S gl 595 03 lo Mdass
Good shoes last longer. (1lo o) A5 o yas i g (sla yiaS
1l € aul HE LY me 4 b laSting Cis yeus )

The injury had a lasting effect on his memory. A ldasls by o3l slul el el
oMb Jesas — ¥ b ol =Y OV banS ple e

S Do 122l (65508 Cad] &1y lowd 0285 ol 2SI B By LS plod y9y0 sl S Lol idlez (pive (1) s3S -A
3y 5 (A germe b Canptd S ) i 5855 o3l g (35 Bl g L0 ne 4y o g Sl €S 3B g G g Y (e o SKID b
Hgdn 390 Elyw 4

I got up late so I had to skip breakfast. oS 08 o il I pad jeome plply s b Gl 3l e
035 (sogad) gy — ¥ OB 39350 = ¥ S B TY e S b e

5 gy L 3 4251 4 o |y oty (AT 85 sl o0 (o el sl (i) ST st (o o iR (¥) inS -

A i8] A

WECES | s> 1 g — ¥ Sap—) bdyiF plo g



L 217
The New Bridging the Gap

oolyd (gl iy M o 3355 S yBT i S50 (Bl sk 2 2lals) O 1) ediie Ll ez pme  (E) G&HT N
S e
H Bguie oS o) SHMULUS g ( 32,985 « S5 y50) stimulation | as,le )] wae ol 9 €53)S Brgai (9,5 Ko ,56» m stimulate b s
The government should do more to stimulate investment in this area.
A bl (6 5k o)l adlate (pl )3 IS wlopw 329485 sl Wb g
o @ig =Y O dgdoe — ¥ O Spae— ) a5 plo e
L5392 el 33 IS g s (godlel g ord Jn gt bl ccd 13 gh Clos S s oz (2o (Y) GAa3T -1
145l o (Jb> yw) refreshed g (ggaao ¢yl blis) refreshing caw g5 slyls Jab oyl ol €359 bLis & ()9l Jbo po xo 4 refresh Jab s

After work he took a long, refreshing shower. 2l ool ol blis SYsb pleas 5,18 5l am

L;}w—\‘ a.));'mf—\” )Jéi.))}a‘g}uan—\ Ltbé\u)f).‘lwwxn



1. Asmy car's fuel .................. is very high, I'm going to trade it for a smaller one.
1) production 2) regulation 3) consumption 4) aggravation
2. All the students are familiar with this .................. that all substances are made up of molecules.
1) concept 2) chemistry 3) analysis 4) scholar
3. A number of suggestions were made at the meeting but none of them were .................. by the committee.
1) suspected 2) fascinated 3) translated 4) approved
4. Not too far from here the .................. of that old church is visible. Only its walls are left.
1) zones 2) contents 3) ruins 4) particles
5. He sounded ............... by the lack of progress in the peace talks.
1) discouraged 2) distracted 3) dispersed 4) distinguished
6. The truck dropped its .................. in the middle of the highway and caused a terrible accident.
1) path 2) stock 3) point 4) load
7. Finally, Tom got fired. He is taking the .................. of his rudeness.
1) instances 2) relations 3) consequences 4) dimensions
8. They have .................. a new method for protecting cars from being stolen.
1) insured 2) devised 3) calculated 4) resisted
9. A terrible storm .................. the beach just as we reached there, and we had to run for shelters.
1) struck 2) defeated 3) led 4) scattered
10. The doctors .......ccceeuuenen. the cause of his chronic illness to an unknown virus.
1) prescribed 2) developed 3) responded 4) attributed
11.He had to .................. of the race in the final lap due to a sudden strain.
1) back up 2) carry on 3) drop out 4) lay off
12. The whole team played badly, but the press .................. only the coach.
1) blamed 2) affected 3) discouraged 4) proved
13. Computer programs are now used in the .................. of official reports and business contracts.
1) definition 2) translation 3) graduation 4) satisfaction
14. They feel that the present government is not sufficiently .................. to follow their town's interests.
1) energetic 2) economical 3) advanced 4) popular
15. The phone is making noise because you forgot to .................. the receiver.

CEVEVACESE Lessons 31 - 35

1) remain 2) replace 3) remove 4) restart
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16. The factory manager wants to use different machines but the workers don't like this .................. .
1) furniture 2) distortion 3) proposal 4) industry
17. Clearly, we cannot make a simple .................. between plants and animals on the basis of differences in
feeding methods.
1) limitation 2) distinction 3) supervision 4) preparation
18. Human geography studies the .................. of human population and their relationship with the Earth.
1) employment 2) adventure 3) distribution 4) project
19. He is full of .................. ideas which he would like to put into practice.
1) original 2) previous 3) sufficient 4) chronic
20. Tom was unsure of the substance in the .................. , S0 he decided to throw it away.
1) safety 2) option 3) state 4) package
635 aslidmly
1234 1234 1234 1234
1 OOm 6 LrCim 1nodmr 16 LI m[]
2 OO0 7 OOmd 12E=O00 170MECOO
3 gooim 8§ UmOMd 130mEO0 18 m]
4 O0OmO 9 mO0O0 14 EO00 19EO00
5 EOOn 1000 15OmEOn 20 1000 =



Lesson36

=g Reading Comprehension

.\ Reading

Getting a Hair Cut
Mark is going to a barber's shop to have his hair cut, but he knows that when he comes out, he is not to be happy
with the result, and when his friend George sees him, he will laugh and say, "What's happened to your hair, Mark?"

Mark said: "I am trying a new barber's shop today, because I am not at all satisfied with my old one, but this one

seems even worse. [ am going to compare many barbers in this area in order to find out the best one. What I am going to
do is to select a fixed and specific barber that can be considered my family barber. I started to examine the barbers'
profession one by one. I am visiting the barbers' head tomorrow to ask him if he can introduce me the top barber of this
area. I guess, however, that it is going to cost me a lot."

George agreed. "Yes, I think you're right, Mark. Now I am telling you what to do next time you go into a barber's
shop: look at all the barbers' hair, and then go to the one whose own hair has been cut the worst."

"The one whose hair's been cut the worst?" Mark repeated. "But that would be foolish."

"Oh, no, it wouldn't," George is answering. "Who do you think cut that man's hair? He couldn't cut it himself. Could

he? Another barber cut it and he is going to be a worse barber than the one whose hair he cut."
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H Comprehension Check

1. As Mark was not happy with his hair, he was going to ................. .

1) get his friend George to cut his hair 2) find the best barber in the area

3) have the barbers' head cut his hair 4) ask George to find a barber for him
2. The word "'satisfied" in line 3 is a synonym of ................. .

1) pleased 2) annoyed 3) restricted 4) related

3. Which sentence is true according to the passage?
1) Mark has selected a fixed barber for himself and his family.

2) George advised Mark to visit the barbers' head.
3) The barber whose hair is cut the worst cannot be the worst one.

4) George believes it costs Mark a lot of find a good barber.

=@l Vocabulary Test

1. She is incredibly .................. . She left her infant out in the hot sun.
1) premature 2) foolish 3) sensitive 4) specific
2. In most developing countries teaching is usually a very poor-paid .................. .
1) profession 2) product 3) procedure 4) process
3. The North Star is a ......cccceuvnuens point of light in the night sky and for this reason has been used for
navigation since ancient times.
1) fixed 2) legible 3) secure 4) lunar
4. When he told me about her personal problems, I realized that mine were small by .................. .
1) introduction 2) selection 3) comparison 4) solution
5. The soldiers had been commanded to .................. the terrorists on sight and eliminate all of them.
1) shoot 2) shout 3) shut 4) shot
6. We're going to ........ccoueee.e. two of our best students to represent our school in the competitions.
1) compare 2) develop 3) calculate 4) select
7. Because of recent death threats, wherever he goes these days he has to be .................. by a bodyguard.
1) replaced 2) accompanied 3) suspected 4) determined
8. Tom you should keep your music turned down low, out of .................. for our neighbors.
1) consideration 2) determination 3) presentation 4) civilization
9. The ..cccuvvvuenenen.. of the new working practices has dramatically improved productivity in our factory.

1) profession 2) compensation 3) aggravation 4) introduction
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=g Reading Comprehension

.\ Reading

Crazy

Children often have far more sense than their elders. This simple truth was demonstrated rather dramatically during
a civil defense exercise in a small town in Canada. Most of the inhabitants were asked to take part in the exercise during
which they had to pretend that their city had been bombed. Air-raid warnings were sounded and thousands of people
went into special air-raid shelters. Doctors and nurses remained above ground while police patrolled the streets in case
anyone tried to leave the shelters too soon.

The police did not have much to do because the citizens took the exercise seriously. They stayed underground for
twenty minutes and waited for the siren to sound again. On leaving the air-raid shelters, they saw that doctors and
nurses were busy. A great many people had volunteered to act as casualties. Theatrical make-up and artificial blood had
been used to make the injuries look realistic. A lot of people were lying "dead" in the streets. The living helped to carry
the dead and wounded to special stations. A child of six was brought in by two adults. The child was supposed to be
dead. With theatrical make-up on his face, he looked as if he had died of shock. Some people were so moved by the
sight that they began to cry. However, the child suddenly sat up and a doctor asked him to comment on his death. The

child looked around for a moment and said, "I think they are all crazy."
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H Comprehension Check
1. The aim of civil defense program was to ...........cc.cuuu. .

1) demonstrate children have more sense 2) scare inhabitants from the air-raid

3) prepare citizens for a real war 4) pretend that the city had been bombed
2. During the exercise the police ................. .

1) didn't took the exercise seriously 2) stayed underground for twenty minutes

3) volunteered to act as casualties 4) remained above ground and patrolled the streets
3. Which sentence is true according to the passage?

1) All the people were pretending to be dead after the air-raid.

2) The citizens were supposed to remain underground for 20 minutes.

3) The nurses were wearing make-up to look realistic.

4) Doctors were the first people to leave the shelters.

=@l Vocabulary Test

1. During the state of emergency many staff willingly .................. to work through weekend.

1) volunteered 2) demonstrated 3) introduced 4) replaced
2. You have to give the committee a ............... estimate of how long the reconstruction project is going to take.

1) permanent 2) severe 3) gradual 4) realistic
3. ""He always considers himself superior to everyone.'

""Yes, this is one of his negative .................. S

1) characteristics 2) interactions 3) comments 4) inhabitants
4. The firm refused to give her a day off. So she had to .................. to be ill.

1) propose 2) assume 3) suppose 4) pretend
5. The poor condition of this apartment block is a real danger to all its .................. .

1) inhabitants 2) constructions 3) involvements 4) consumers
6. Watch out, John! The roof is too .................. . You may fall down.

1) steep 2) prone 3) stable 4) crazy
7. 1'd be no good at first aid because I can't bear the .................. of blood.

1) trait 2) stream 3) vessel 4) sight
8. During the imposed war, many bridges were destroyed in enemy bombing .................. .

1) warnings 2) raids 3) sirens 4) refuges
9. The drugs helped relieve the pain from the .................. I'd received in the battle.

1) casualty 2) wound 3) defense 4) threat
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10. It was .coevvenenrnnnnns to be a surprise, but Larry knew about the birthday party from the beginning.
1) supposed 2) pretended 3) demonstrated 4) remained
11. Although they don't like each other, they always manage to be quite .................. .
1) forceful 2) shaky 3) realistic 4) civil
12. The ambulance is on its way to hospital. We don't know the full extent of the injuries to the .................. ,
but we don't believe they are life-threatening.
1) volunteers 2) casualties 3) operations 4) characteristics
13. During the long years of internal wars, several millions of Afghans took .................. in our country.
1) refuge 2) patrol 3) sight 4) raid
14. The ......ccuueeeen.. went off in the middle of the night to warn that there was going to be an air attack.
1) defense 2) siren 3) patrol 4) raid
15. When an actor .................. , he uses special paint and powder on the face to look attractive or change

appearance .

1) turns up 2) looks up 3) builds up 4) makes up

16. I'm considering being transferred to my hometown because the cost of living has increased .................. in
the capital.
1) dramatically 2) economically 3) basically 4) theatrically

17.Ina ..ccevniiiinnnnens voice, the customer threatened to leave the store without buying the watch.

1) theatrical 2) partial 3) vital 4) provincial
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.\ Reading

Our Planet Earth

Imagine you are an astronaut traveling in a spaceship to the Moon! When you rise far above the surface of the Earth
and look back at it, what do you think you would see? Astronauts who have been to the Moon say the Earth looks like a
huge, blue ball shining in a black sky. The surface of the Earth is often covered with enormous patches of swirling,
white cloud. The blue color comes from the oceans of our planet. The black sky is the emptiness of outer space.

If you were an astronaut on the Moon, wouldn't you wonder how big the Earth really is? It would look quite small!
But if you could dig your way straight to the middle of the Earth, your tunnel would be about 6400 kilometers long.

Our planet is one of nine planets that go around the Sun. All the planets receive energy from the Sun, but the Earth
is the only planet which supports living things. This living world inhabits all the corners of the planet — its water, land
and air. Most of planet Earth's surface is covered by the blue seas and oceans. Only about one quarter of the surface is
dry land. These landscapes are varied. They may be deserts, forests, grasslands, mountains or simply covered, like

Antarctica, by ice. And all around the Earth there is the atmosphere. This is made up of several layers of air.

H Comprehension Check

1. The blue color of the Earth comes from the .................... .
1) enormous clouds 2) atmosphere layers 3) seas and oceans 4) activity of the sun
2. The word "enormous' in line 3 is closest in meaning to ................... .

1) distant 2) huge 3) colorful 4) various



S 233
The New Bridging the Gap

3. Which of the following sentences is true?
1) The moon looks like a blue ball in a black sky.

2) Not considering the Earth, there are nine planets orbiting the sun.
3) The living creatures can only surrive in dry land.

4) 75 percent of Earth's surface is covered by water.

=il  Vocabulary Test

1. I've been cleaning for the last three hours, but there's still a ............... amount of housework left to be done.
1) huge 2) gentle 3) slight 4) mild
2. Be careful while driving! Even in the afternoon there are still often icy .................. on the road.
1) deserts 2) leaps 3) streams 4) patches
3. The method of freezing food has made a(n) .................. impact on our eating habits.
1) descriptive 2) enormous 3) excessive 4) varied
4. She felt an aching .................. in her heart when her son told her he was going to leave her.
1) syndrome 2) challenge 3) vessel 4) emptiness
5. John was not dying of cancer; it was .................. a chronic infectious disease which was fortunately curable.
1) simply 2) locally 3) strictly 4) equally
6. Travelling by car, you have the chance to stop in the countryside to admire the ..................
1) circumference 2) culture 3) landscape 4) civilization
7. When it suddenly began to rain, the workers were .................. a long canal to put gas pipes in.
1) digging 2) leaping 3) swirling 4) hanging

H word study
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Nothing To Sell and Nothing To Buy

It has been said that everyone lives by selling. In the light of this statement, teachers live by selling knowledge,
philosophers by selling wisdom and priests by selling spiritual comfort. Though it may be possible to measure the value
of material goods in terms of money, it is extremely difficult to estimate the true value of the services which people
perform for us. There are times when we willingly give everything we possess to save our lives, yet we might grudge
paying a surgeon a high fee for offering us precisely this service. The conditions of society are such that skills have to
be paid for in the same way that goods are paid for at the shop. Everyone has something to sell.

Tramps seem the only exception to this general rule. Beggars almost sell themselves as human beings to arouse the
pity of passers-by. But real tramps are not beggars. They have nothing to sell and require nothing from others. In
seeking independence, they do not sacrifice their human dignity. A tramp may ask you for money, but he never asks
you to feel sorry for him. He has deliberately chosen to lead the life he leads and is fully aware of the consequences. He
may never be sure where the next meal is coming from, but he is free from the thousands of anxieties which afflict other
people. His few material possessions make it possible for him to move from place to place with ease. By having to sleep
in the open, he gets far closer to the world of the nature than most of us ever do. He may hunt, beg, or steal occasionally
to keep himself alive, but he will never sacrifice his freedom.

We often speak with contempt for tramps and put them in the same classes as beggars, but how many of us can

honestly say that we have not felt a little envious of their simple way of life and their freedom from care?
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H Comprehension Check

1. The difference between a beggar and a tramp is that .................... .
1) a tramp never beggs for money 2) a beggar never sacrifies his freedom
3) a tramp does not lose his dignity 4) a beggar never arouse the pity of others
2. The underlined word ''consequence'' in the second paragraph is a synonym of ................... .
1) result 2) purpose 3) point 4) activity

3. Which of the following sentences is not true?

1) Priests live by selling spiritual comfort.
2) It's often impossible to measure the true value of material goods.
3) People often show contempt for both beggars and tramps.

4) Independence and freedom are both important for tramps.

=@l Vocabulary Test

1. It's a great ......c.ceuueenen. that the students in rural areas cannot have the same chance of being admitted to
university.
1) dignity 2) decay 3) inquiry 4) pity
2. When we got out of our vehicle, we found ourselves surrounded by a lot of small children .................. for
money.
1) researching 2) leading 3) begging 4) caring
3. After retiring from movies, he returned to his hometown to .................. a quiet lift there.
1) face 2) cause 3) define 4) lead
4. If you don't pay the .................. now, you risk losing your place on the course.
1) wage 2) fee 3) share 4) salary
5. My aunt was S0 ....cceeenrenrens of our new dishwasher that she bought one just like it.
1) deliberate 2) dramatical 3) undesirable 4) envious
6. It's often difficult for old people to remember the location of their personal .................. such as keys.
1) memories 2) particles 3) consequences 4) possessions
7. He hardly respects any new idea. He hold all suggestions in .................. .
1) dignity 2) contempt 3) wisdom 4) purpose
8. It's not in his character to offend anybody. He would never .................. try to do that.
1) deliberately 2) enviously 3) delicately 4) temporarily
9. The prisoners were allowed only .................. visits from their close relatives.

1) precise 2) spiritual 3) permanent 4) occasional
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10. After your graduation from university, you should .................. a permanent job.

1) perform 2) arouse 3) excite 4) seek
11. Most of the children who are .................. with this rare genetic disease die before the age of six.

1) proposed 2) afflicted 3) prescribed 4) aroused
12. We all admire these brave soldiers who are willing to .................. their lives for their country.

1) perform 2) possess 3) sacrifice 4) defeat
13. The psychologist tried to help me identify all sources of my .................. and eliminate them from my life.

1) anxiety 2) quality 3) dignity 4) variety
14. Throughout the whole affair, they managed to act with honor and .................. .

1) consequence 2) imitation 3) performance 4) dignity
15. As I hated my neighbors, I .................. every minute I spent helping them moving their furniture.

1) sacrificed 2) afflicted 3) aroused 4) grudged
16. The ability to use your experience and knowledge to make sensible decisions and judgements is called

17.

1) wisdom 2) persistence 3) freedom 4) determination
Our suspicions were first ..........c....... when we heard a muffled cry from that old house.

1) stated 2) lessened 3) aroused 4) pretended
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Lesson 40

=g Reading Comprehension

.\ Reading

United Nations

In these times of world tension, we hear a great deal about the United Nations. What is it? Why was it established?
What is it supposed to do? We can give only a brief description of the United Nations here, but here are some things
you should know about it.

The United Nations is an organization of governments. It was set up to prevent war and to build a better world for
all by dealing with problems which can best be solved through international action. The UN constitution, known as the
Charter, was signed at San Francisco on June 26, 1945, by representatives of 50 nations.

According to the Charter, the UN has four chief purposes. The first is to maintain peace by settling disputes
peacefully or by taking steps to stop aggression, that is, armed attack. The second is to develop friendly relations among
nations based on the equal rights of peoples and their own choices of government. The third is to achieve international
cooperation in solving economic, social, cultural, and humanitarian problems. And the fourth is to serve as a center
where the actions of nations can be combined in trying to attain these aims.

The UN is divided into six main working groups. The first is The General Assembly. Made up of all the members,
each with one vote, it is the policy-making body of UN.

The second is the Security Council, which is responsible for the maintenance of peace. China, France, Great Britain,
Russia, and the United States have permanent seats and special voting privileges. The other six members are elected by
the General Assembly for terms of two years.

The third is the Economic and Social Council with eighteen members. Its job is to promote the welfare of peoples
and to further human rights and fundamental freedoms. The fourth is the Trusteeship Council, which supervises the
welfare of dependent peoples under the UN and helps them towards self-government. The fifth is the International
Court of Justice, which settles legal disputes.

The sixth is the Secretariat, the administrative and office staff of the UN. Its chief officer is secretary-general of the

United Nations.
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H Comprehension Check

1. Which statement is correct according to this passage?
1) The UN constitution was signed by representatives of permanent members in 1945.
2) The Security Council can settle all kinds of disputes among people.
3) The Security Council of the UN has eleven members.
4) The UN helps independent nations to achieve self-government.
2. The permanent members of UN .................. .
1) should develop friendly relations among nations
2) should solve economic problems of the United Nations
3) are selected among all members of the United Nations

4) can reject some of the decisions made by other members

3. Improving the welfare of people is the responsibility of the .................. .
1) Social Council 2) General Assembly
3) Security Council 4) Secretary-General

4. Which part of the UN is made up of all its members?
1) the Security Council 2) the General Assembly  3) the Court of Justice 4) the Trusteeship Council

=@l Vocabulary Test

1. There's no doubt that unions .................. a useful function for both workers and management.
1) divide 2) serve 3) select 4) combine
2. I'm sorry to interrupt you but there's a rude customer who insists on knowing who's in .................. of the
shop.
1) action 2) mind 3) case 4) charge
3. Education is one of the basic human rights written into the United Nation's .................. .
1) Assembly 2) Council 3) Security 4) Charter
4. You'd better put off making your final decision until you .................. all the necessary data.
1) elect 2) assemble 3) supervise 4) promote
5. Boys at this age usually express their .................. by hitting each other.
1) aggression 2) promotion 3) cooperation 4) interaction
6. The meeting took a long time but no practical suggestion was made to .................. with the case.
1) supply 2) equip 3) revise 4) deal
7. The U.S. government has been attacked for his foreign .................. by almost all the countries in the Middle
East.

1) culture 2) policy 3) concept 4) privilege
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8. We.oooviviiniinnnnns the quality of our products but did not increase the prices.
1) cooperated 2) replaced 3) consumed 4) maintained
9. Simon ........cceeuueeee. their offer of the job mainly because the salary was too low.
1) rejected 2) supervised 3) attained 4) approved
10. An oral agreement is not enough; we must have a written .................. promise .
1) cultural 2) equal 3) general 4) legal
11. The company intends to .................. all these goals within the next three years.
1) achieve 2) settle 3) extend 4) gather
12. There was nearly a(n) ......cccccoeeueee. fire on Friday night when some children set fire to a pile of rubbish in
the park.
1) major 2) artificial 3) primary 4) gradual
13. This hotel has got a very good .................. and is recommended by most travel agencies.
1) settlement 2) reputation 3) appointment 4) possession
14. Life has taught me that we can .................. our dreams with hard work and dedication.
1) attain 2) elect 3) unite 4) assume
15. The production manager was troubled over the recent drop in .................. by his employees.
1) privilege 2) staff 3) supervision 4) output
16. Nearly all the committee's members .................. to decrease the amount of money being spent on space
vessels.
1) dealt 2) voted 3) struck 4) marked
17. The judge appointed to this special case must be a person of .................. and honesty.
1) justice 2) achievement 3) eternity 4) desire
18. I believe that .................. is important in all relationships between people, especially those who must live

19.

20.

21.

22,

23.

24,

and work together closely.

1) distribution 2) prominence 3) cooperation 4) maintenance
Enough rest and sport are the best ways of relieving the .................. of a busy life in big cities.
1) tension 2) command 3) dignity 4) effort

When a country gains its independence, the new government begins to write a .................. .

1) discrimination 2) translation 3) supervision 4) constitution
This form must be filled in and .................. by a parent before you can go on the school trip.

1) voted 2) collected 3) signed 4) proposed

The ..ccovvvninninnens of this elementary course is to equip all the children with practical study skills.
1) aim 2) origin 3) rank 4) area

I wasn't satisfied with the way my boss handled the .................. , S0 I complained to my union.
1) welfare 2) dispute 3) relation 4) court

All the major newspapers are forecasting that there will be a general .................. in two months.

1) election 2) reputation 3) description 4) promotion
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25. The two parties should .................. to support the expansion of social welfare program, instead of fighting
each other all the time.
1) remain 2) defend 3) accompany 4) unite
26. If prisoners behave well, they are allowed the .................. of visiting their families at the weekend.
1) selection 2) benefit 3) privilege 4) proposal
27. Raising your child to distinguish between right and wrong is one of the .................. tasks of parenthood.
1) fundamental 2) deliberate 3) voluntary 4) administrative
28. You need official approval from the local ............... before you can build a garage in your garden.
1) council 2) justice 3) transport 4) resource
29. We along with the union leaders are optimistic that we can reach a peaceful .................. of the dispute.
1) combination 2) achievement 3) elimination 4) settlement

30. Financial stress is well established as a ........c.c......... reason for divorce.

1) formal 2) strict 3) legal 4) chief
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1. A: What's the main .................. of his novels?

B: Most of them have sad endings.

1) characteristic 2) possession 3) adventure 4) privilege
2. When his promotion was .................. by the newspaper owner, the editor was thoroughly disappointed.
1) expressed 2) proposed 3) rejected 4) achieved
3. It is impossible to estimate the harm caused by the .................. use of these drugs.
1) illegal 2) energetic 3) popular 4) deliberate
4. France and Germany are .................. on the design and launching of the new generation of space rockets.
1) maintaining 2) cooperating 3) demonstrating 4) approving
5. As it was expected, this study ............... that cigarette advertising does encourage to smoke.
1) afflicts 2) demonstrates 3) establishes 4) classify
6. We hope that the new productivity agreement will lead to an increase in .................. .
1) profession 2) expense 3) solution 4) output
7. I'd like you to remove those toys from their children's .................. before they get broken.
1) sight 2) emotion 3) safety 4) effort
8. It makes my parents happy that I .................. contact with them while I am away from home attending
university.
1) introduce 2) deliver 3) maintain 4) recognize
9. The instructions are very confusing. I can't tell what I'm .................. to do.
1) supposed 2) affected 3) restricted 4) advanced
10. I hope you don't think that his opinions are .................. of all the people in this neighborhood.
1) representative 2) supervision 3) disappointment 4) possibility
11. With more than 90 percent of .................. counted, we should win nearly a third of seats.
1) ranks 2) votes 3) expenses 4) fees
12. She can'tgoon .................. that everything is OK when it obviously isn't.
1) pretending 2) discouraging 3) seeking 4) challenging

13. They wanted to tell the public their opinion about the government's environmental strategy, so they had an
article writtenina .................. newspaper.

1) local 2) precise 3) limited 4) major
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14. A: Have you ever been to that restaurant?

B: No, but I suggest you avoid it. It's got a terrible .................. .
1) presentation 2) reputation 3) distinction 4) consumption
15. The rest of the workforce came together to support their friends in their fight for .................. .
1) affair 2) justice 3) endeavor 4) defense
16. Before you start the project, it's vital to have a clear .................. in mind. You really need to know where

you're going.
1) dignity 2) spot 3) option 4) aim
17. If you intend to change the date on that cheque, you'll have to .................. your name as well, or the bank

won't accept it.

1) sign 2) identify 3) seek 4) exchange
18. You'd better call the manager; he's used to .................. with difficult customers.
1) leading 2) seeking 3) loading 4) dealing

19. A: Why did the kids cause so much trouble?

B: I don't know, but they've got such a(n) .................. attitude to everything.
1) aggressive 2) extensive 3) sensitive 4) expressive
20. You can't expect your students to absorb such a(n) .................. amount of information in just one day.
1) precise 2) enormous 3) critical 4) permanent
635 aslidmly
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=g Reading Comprehension

.\ Reading

Bacteria

Bacteria are probably the most common form of life on earth. They are microorganisms, which mean they can be
seen only under a microscope. A bacterium consists of only one cell. A single drop of sour milk may contain
100,000,000 bacteria. Since bacteria have some features of both plants and animals, scientists have not agreed on how
to classify them. Most bacteria reproduce by fission — the cell divides in two.

There are at least two thousand species of bacteria, and they live practically everywhere and anywhere. Some live in
the mouths and noses of animals, including man. Others live on fallen leaves, dead trees, in fresh and salt water, in milk,
and in most foods. They live in dust and soil. Some bacteria are able to use as food such substances as hydrogen gas,
ammonia, iron compounds, and paraffin. A few feed on acids and bases that are poisonous to man.

Although most bacteria are killed by extreme heat, some live in hot springs. Freezing may check their growth, but
does not ordinarily kill bacteria. They can remain inactive for long periods of time. Bacteria have been found frozen in
salt deposits that are hundreds of millions of years old. These bacteria have become active in the laboratory.

If bacteria can survive under practically any conditions, isn't man in great danger from them? Bacteria cause the
decay of dead plants and animals. Bacteria play an important part in the digestive processes of man and other animals.
They are a vital link in the food chain that supports life.

Bacteria are responsible for the fermentation process by which such products as cheese and vinegar are made. The
same fermentation is also used in industry to make substances essential to paints, plastics, cosmetics, candy, and other
products. It is also used to make certain drugs. So you see in how many ways bacteria are useful to man. And there are

still many more ways they are used and will be used in the future!
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H Comprehension Check

1. Since bacteria have features of both plants and animals, ..................... .
1) they can only be seen under a microscope 2) scientists have not agreed on how to classify them
3) they can grow in all kinds of environments 4) scientists cannot name them properly
2. According to the passage , bacteria ..................... .
1) can remain inactive for a long time 2) can be easily killed by freezing
3) have been found frozen in decaying animals 4) are reproduced by fermentation

3. Which of the following sentences are correct?
1) Most species of bacteria can live in hot springs. 2) Fermentation is essential for survival of bacteria.

3) Most bacteria produce poisonous substances. 4) Bacteria are a vital link in the natural food chains.

=@l Vocabulary Test

) I NN is a chemical substance which combines two or more elements.
1) formation 2) compound 3) reaction 4) material
2. This bottle contains .................. gas so it must be carried with the greatest care.
1) practical 2) poisonous 3) invasive 4) severe
3. The number of insects is probably three times the total number of all other animal .................. in the world.
1) elements 2) species 3) products 4) districts
4. Their supportis ......cc.ccceueee.. to your success; you must persuade them to vote for you at all cost.
1) legible 2) vital 3) precise 4) formal
5. Please slow down a bit. You're eating too fast to .................. your food well.
1) decay 2) reproduce 3) digest 4) release
6. Huge .....cccuvueneee. of rich soil at the bank of the river has made it a very suitable place for farming.
1) drops 2) continents 3) rays 4) deposits
7. In nature, only a small fraction of animals that are .................. grow to adulthood.
1) reproduced 2) eliminated 3) reinforced 4) attributed
8. Mountain climbing is not a sport to be taken lightly. You have to understand that there's a(n) .................. of

danger involved in it.

1) element 2) process 3) chain 4) product

9. Through hard work and a bit of luck he became the millionaire owner of a huge supermarket .................. .
1) link 2) check 3) zone 4) chain

10. A: Are these shoes .................. for taking long walks?

B: Yes, they are very comfortable.

1) energetic 2) practical 3) realistic 4) essential
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Pollution

Scientists have recently reported that the polar ice caps are melting, due to a rise in atmospheric temperatures known
as the "Greenhouse Effect". According to Melvin Calvin, who won a Nobel Prize for earlier research, the carbon
dioxide given off when coal and oil are burned is accumulating in the atmosphere and causing temperatures to rise. As a
result, the ice covering the North and South Poles is melting and may eventually lead to a rise in sea levels which could
flood many areas of the world, including New York, London and Tokyo.

The "Greenhouse Effect" is just one of many fundamental changes which are taking place in the environment.
Tropical rain forests which took fifty million years to grow are being reduced at the rate of fourteen acres per minute.
The world's deserts are growing year by year. Scandinavia's beautiful lakes are becoming lifeless due to "acid rain"
caused by sulphur dioxide emissions from factories in West Germany and Britain. Many species of animals and plants
are threatened with extinction.

In presenting the results of "Global 2000", the Government's most comprehensive study of the future, Edmund
Muskie said, "World population growth, the degradation of the Earth's natural resource base and the spread of
environmental pollution collectively threaten the welfare of mankind." Words alone, however, will not solve the
problem. If governments do not act quickly and decisively to protect the environment, this planet will soon become

uninhabitable.
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H Comprehension Check
1. Melvin Calvin won a Nobel prize because .................... .
1) he found out pollution is increasing 2) of discovering North and South poles
3) he saved a lot of cities from flood 4) of describing the "Greeuhouse Effect"
2. Sulfur dioxide is a danger to the environment because it .................. .
1) destroys Germany and Britain factories 2) causes the temperature to rise
3) takes part in forming Acid rains 4) damages the tropical rain forests
3. Which of the followings is not mentioned by Muskie as a threat for mankind?
1) pollution 2) population growth
3) depletion of natural resources 4) governments' inaction
=@l Vocabulary Test
1. We are still waiting for Jim to make up his mind. I wish he would be more .................. .
1) collective 2) comprehensive 3) effective 4) decisive
2. He knew that he would be .................. the lives of his passengers by attempting a landing in such poor
visibility.
1) commanding 2) endangering 3) complaining 4) defending
3. The increased use of natural gas will definitely help reduce carbon dioxide .................. .
1) emissions 2) situations 3) dimensions 4) solutions
4.1 found it a very .......c.ceueen.. book covering all the aspects of the subject and containing all the necessary
information.
1) comprehensive 2) fundamental 3) excessive 4) sritical
5. Then suddenly the fire .................. with terrifying speed, and within minutes the whole room was on fire.
1) threatened 2) sought 3) accumulated 4) spread
6. Coffee originally came from Ethiopia. Now many .................. countries produce it.
1) tropical 2) beneficial 3) provincial 4) spherical
7. If you don't get your home cleaned regularly, dust .................. everywhere.
1) reproduces 2) accumulates 3) maintains 4) aggravates
8. He had no success when he worked on his own; consequently he turned to .................. tasks.
1) collective 2) intimate 3) amazing 4) satisfactory
9. Please put the rubbish outside; it's .................. a terrible smell in here.
1) working out 2) giving off 3) carrying out 4) going off

10. In producing a new chemical, first we have to consider the effects of its .................. products on nature.
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Amnesia

Every now and then, you read in the papers about a person who has "forgotten" who he is. He remembers nobody
and nothing from his past, not even his name. We say this person is suffering from amnesia.

We all get emotionally upset from time to time. We feel hurt, angry, disappointed or frightened for one reason or
another. When we feel such emotional pain, we want to do something about it. For example, a simple way of dealing
with it is to cry, or blush, or break out in a cold sweat. In fact, these reactions happen without our control. They are
considered normal reactions, since practically everyone has them.

But a person may react to emotional stress and pain in another way. Instead of facing the problem that caused him to
be upset, he tries to act in such a way that he won't feel the anxiety. He "runs away" from it. He "protects" himself in
this way from emotional pain.

One form of this is amnesia. A person acts as if all those things which bothered and upset him so much didn't really
happen to him but to someone else! He "forgets" his anxiety.

In forgetting this, he also forgets a great many things that were linked about the past. But he may act quite normally
about the present. He lives and works as another person, and may not attract any special attention.

Sometimes a person recovers from amnesia suddenly, of his own accord. In many cases, however, a person can be
helped to recover by a psychiatrist. A curious thing is that people who recover from amnesia don't remember events

which took place while they were suffering from amnesia.
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H Comprehension Check

1. Which of the followings is an abnormal reaction to emotional stress?

1) crying 2) cold sweat 3) blushing 4) amnesia
2. The verb '"recover' in the last paragraph means ................... .
1) get better 2) forget about 3) feel sorry 4) react to

3. Which of the following sentences is true?

1) Person suffering from amnesia tries to forget his anxiety.
2) According to the passage amnesia can never be recovered.
3) One form of amnesia is forgetting present and remembering past.

4) When we feel emotional pains, we don't care about them.

=@l Vocabulary Test

1. Years of living abroad has made him .................. a foreigner in his own country.
1) originally 2) previously 3) decisively 4) practically

P2 { 1 ) signed by the two sides in January brought a formal end to the war in the region.
1) battle 2) accord 3) sight 4) loss

3. My father had a serious operation last month but he is .................. nicely.
1) suffering 2) recovering 3) frightening 4) protecting

4. We just couldn't stop laughing. That's why we were getting such .................. looks from passers-by.
1) curious 2) anxious 3) conscious 4) nervous

5. When he faced the fact, he realized how foolish he'd been and .................. all over.
1) acted 2) blushed 3) aroused 4) berated

6. If a nuclear war ever .................. , it's unlikely that many people will survive.

1) backs away 2) breaks out 3) brings about 4) builds up
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Lesson 44

=g Reading Comprehension

.\ Reading

Fame for Adam Coleman
Ex-student of Castle School of Performing Arts is starring in panto at the Prince of Wales.

Why are there so many people queuing daily outside the Prince of Wale's theater to see a pantomime? The reason is
Adam Coleman, one of the most brilliant former students of Castle School of Performing Arts, who is at the moment
the most popular rock star in Britain. His fans usually queue to listen to him sing in pop concerts, but now they are
fighting their way to find a seat to see him starring in Dick Whittington and His Cat. Pantomime actors generally
provoke a polite enthusiasm from the public, whereas every time Adam comes into the spotlight, all you hear is squeals,
screams and whistles from the stalls.

Adam, naturally, is the star attraction as Dick Whittington himself and even his co-star (a pretty girl disguised as a
cat) doesn't really get a look in. There are excited squeals as Adam appears on stage and the audience get positively
sentimental later on when he sings the love song All I Ask of You. As soon as the curtain comes down, a mysterious
voice booming through the loudspeaker reminds the audience that copies of Adam's new album are on sale in the foyer,
presumably with all the cakes and ice-creams.

The second act is more or less the same thing — lots of booing and hissing when the villain appears and enthusiastic
loud applause when Dick rescues his true love from the tentacles of a giant octopus. When the whole show is over,
Adam is relaxing lazily in his rather untidy dressing room among piles of fan letters — "They're always writing many
more letters than I could possibly reply to, even if I lived two hundred years."

He's changed out of Dick Whittington's tights and boots and he is wearing something a little more casual — a striped

dressing gown.
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The panto is the latest step in a career which has taken Adam Coleman from the stage of the small theater of Castle
School of Performing Arts through the chorus of the famous musical Oliver! to the top of the hit parade — in short, one
of the most famous rock stars in Britain. Moreover, the panto isn't the only work he's doing these days. In fact, early in
the morning he and his band are working hard to record the soundtrack of a film whose title is still a secret. However,

what is not a secret is that the album will certainly be a hit next summer!

H Comprehension Check

1. Adam Coleman became famous because of his skill in .................. .
1) acting 2) hit 3) studying 4) music
2. Dick Whittington and His Cat is an enormous success with the public because .................. .
1) it is based on a true story 2) Adam has a role in it
3) its story can provoke a lot of enthusiasm 4) Adam's latest Album is sold in its entervals

3. Which sentence is false according to the passage?
1) Pantomime is usually a rather banal production.
2) Adam will be the star of a new film.
3) It is predicted that Adam's new songs will be successful.

4) Adam tries to reply to as much letters as he can.

=@l Vocabulary Test

1. There was a readable .................. of his latest film in the paper this morning.
1) review 2) hit 3) applause 4) novel

2. The terrified child began to .................. when the lights went out suddenly.
1) boom 2) hiss 3) boo 4) scream

3. The ...cccevuennnen. of typewriters have dropped dramatically since the invention of word processors.
1) hopes 2) stages 3) links 4) sales

4. The ....cccvuenennen. in the movie had to be played by an actor who was able to look frightening.
1) squeal 2) villain 3) threat 4) career

5. The relaxed friends spoke in a(n) .......cccevvueees manner as they walked in the street.
1) untidy 2) popular 3) brilliant 4) casual

6. He was released from prison last May after serving a twenty-year .................. for armed robbery.
1) challenge 2) sentence 3) judgement 4) situation

7. From this pile of the rubbish it is obvious that the man living in this room is a(n) .................. person.

1) untidy 2) rapturous 3) practical 4) minor
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8. A: I suppose I'll just have to accept the job.

B: Well, you don't seem very .........ccc.eu... about it.
1) curious 2) enthusiastic 3) popular 4) realistic
9. I'm sorry that I have to ............... while you're talking; there's an emergency phone call for you, Dr Mason.
1) propose 2) interrupt 3) participate 4) afflict
10. There was just one .................. on the singer. The rest of the stage was in darkness.
1) stall 2) foyer 3) chorus 4) spotlight
11. It's very dark in here. Why don't you open the .................. and let in some light?
1) shadow 2) exposure 3) curtain 4) brightness
12. The referee of the match made another unpopular decision and the crowd began to .................. .
1) applaud 2) blush 3) disguise 4) boo
13. The group had a .................. once, but none of their other songs was successful.
1) hit 2) whistle 3) show 4) band
14. Make sure you always check for head injuries even if itis only a .................. accident.
1) medical 2) minor 3) general 4) recent
15. It was the best football match I'd ever seen. Both team played hard until the final ............... .
1) squeal 2) hiss 3) scream 4) whistle
16. Their performance was a success and all the actors received enthusiastic ............... at the end of the show.
1) etiquette 2) applause 3) character 4) relation
17. He couldn't pass the final test .................. because he hadn't tried sufficiently for it .
1) presumably 2) frequently 3) occasionally 4) gradually
18. It's not an expensive watch, but it's of great .................. value to me. It belonged to my grandfather.
1) economical 2) practical 3) artificial 4) sentimental
19. Johnis a(n) .....oeevnrnnens violinist, famous for his technical skill in both playing and composing music.
1) optimistic 2) brilliant 3) explicit 4) permanent
20. We heard a .......cccoueueen. of tires. It was a police car turning a corner at top speed.
1) squeal 2) reaction 3) siren 4) spoilage
21. Their devoted .................. had been queueing for over five hours to get into the stadium.
1) matches 2) spots 3) actors 4) fans
22. The lake is normally frozen all the winter, but it .................. in March.
1) floods 2) thaws 3) flows 4) rises
23. As the publishers hoped, the new novel received a lot of .................. enthusiasm.

1) rapturous 2) illegal 3) emotionless 4) partial
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24. He Was .cccvenrenrennnns killed the day before he was due to appear in court on drug charges.
1) mysteriously 2) legally 3) enviously 4) forcefully
25. As a former soldier, he said that he felt a real sense of .................. with the young men in the current
fighting.
1) sentence 2) battle 3) defense 4) kinship
26. A job for which you are trained and in which it is possible to advance during your working life is called your

27.

28.

29.

30.

31.

32,

33.

...................

1) promotion 2) salary 3) assignment 4) career
I was expecting an interesting interview, but he only asked me a few .................. questions about the
weather.
1) political 2) essential 3) accidental 4) banal
It was obvious that she was really annoyed but she was trying to .................. it.
1) disguise 2) disappoint 3) dissatisfy 4) discourage
The present government likes university students to .................. more actively in the social movements.
1) provoke 2) graduate 3) approve 4) participate
Lora considered her instructions .................. and could not understand why her husband kept

overcooking the pizza for dinner.

1) explicit 2) decisive 3) enormous 4) grateful

My dentist believes that as I get older the ............